Knowledge Base


	 Topic
	Question

	
	Unconscionable conduct is best described as conduct
:

Circle one of the following :

A. Contrary to policy provisions

B. Involving the exploitation of persons in a weaker position in the course of doing business.

C. Contrary to the Insurance Contracts Act

D. Contrary to the Codes of Practice

	
	When binding cover in which of the following situations is a Product Disclosure Statement (PDS) required to be given to a Retail Client
.

Circle one of the following :

A. Where the client has already received the relevant PDS.

B. Where the cover being arranged is Interim Contract cover only.

C. Where the client already has a PDS for an identical product.

D. Where the client has not previously received a PDS

	
	The government regulators of the General Insurance Market are
:

Circle one of the following :

A. National Insurance Brokers Association -NIBA

B. ASIC & APRA

C. The Australian Competition and Consumer Commission - ACCC
D. Insurance Council of Australia - ICA

	1011
	Which of the following statements about the Financial Environment are correct?

Circle T for True or F for False by each statement below
.

Consumer and business confidence is the same thing.





T F

Economic cycles last for 12 months at a time.






T F

Interest rates represent the price of money.






T F

Economic recession means things are booming.






T F

If an economy is going well, consumers borrow and spend more.




T F

Low interest rates reduce the attraction of borrowing money.




T F


	1011
	Which of the following statements about the financial Environment and Government Policy are correct?

Circle T for True or F for False by each statement below
.

Fiscal Policy is the level of Gov't tax and spending.





T F

If a Gov't spends more than it collects this is a surplus.





T F

Tariffs can protect industry from international competition.




T F

A Tariff is like a tax on imports, it makes imports cost more.




T F

The Gov't buying Aussie dollars is International Policy.





T F

A balanced budget is always the best budget to have.





T F


	1011
	Which of the following statements on the Financial Environment and Government Policy are correct?

Circle T for True or F for False by each statement below
.

A target Unemployment Rate is part of Employment Policy.




T F

Industry Policy targets specific industries e.g. Motor Vehicle.




T F

Higher interest rates are part of Monetary Policy.





T F

The Work for the Dole is part of Monetary Policy.





T F

Changing tariffs is an example of Monetary Policy at work.




T F

Loosening monetary policy encourages growth in the economy.




T F

	1011
	Which of the following statements on the Financial Environment and its impact on the Insurance Industry are correct?

Circle T for True or F for False by each statement below
.

Low interest rates mean insurers earn more on their money.




T F

Increased tax on insurance reduces its attractiveness.





T F

A booming economy should lead to reduced arson claims.




T F

Lower levels of employment lead to increased crime. 





T F

High inflation means insurance claim costs also rise.





T F

Motor Vehicle Tariff increases mean higher claim costs.





T F

	1011
	Which of the following statements on the Financial Environment are correct?

Circle T for True or F for False by each statement below
.

Financial markets are totally different to any other market.




T F

A market usually has buyers, sellers and goods or services.




T F

The sale of existing shares happens on the secondary market.




T F

Primary markets relate to the sale of new products.





T F

Banks are the only businesses licensed to provide Financial Services.



T F

Financial products always make you money.






T F

	1011
	Which of the following statements regarding the Financial Environment and their impact on the economy and consumers are correct?

Circle T for True or F for False by each statement below
.

Inflation is the rate at which the price of goods and services increase.



T F

Deflation is the same as low inflation.







T F

If your wage doesn't keep up to inflation, you're worse off.




T F

Demand measures the amount of goods available.





T F

Market expectations are what people think will happen.





T F

As a rule when supply increases, prices increase as well.




T F

	1011
	Which of the following statements regarding the Financial Environment are correct?

Circle T for True or F for False by each statement below
.

An Exchange Rate is the value of our dollar versus others.




T F

September 11 had a negative impact on Consumer Confidence. 




T F

Microeconomics is the study of insects.







T F

Macroeconomics looks at the big picture of an economy.





T F

Bidding wars are an example of increased demand.





T F

When the Exchange rate goes up the cost of imports increases.




T F

	1011
	Which of the following statements regarding the Financial Environment are correct?

Circle T for True or F for False by each statement below
.

Issuers create financial products for the first time.





T F

An insurance company is not a type of financial intermediary.




T F

Financial services include lending, catering.






T F

Financial Products include cash, property, and insurance.




T F

Customers can be savers or borrowers.







T F

Insurance brokers are not financial intermediaries.





T F

	1012
	An Industrial Special Risks (ISR) policy is designed to provide comprehensive cover for larger businesses.  Which one of the following statements about an ISR policy is correct?

Circle one of the following
:

A. The policy covers a business against all types of physical losses that it may suffer; however there are limits on some types of losses.

B. The policy is particularly suited to the small retailer and professional businessman.

C. It includes cover for most physical damage as well as the option to cover financial loss that the business may suffer due to such physical damage.

D. The best thing about an ISR is you start with a blank coverage and then add the perils and sums insured to it that you want.

	1012
	Statutory classes are:

Circle one of the following
:

A. Covers that consumers are required take out by municipal by laws and regulations.

B. Covers that insurers must provide as part of holding their insurer license.

C. Covers that consumers and businesses are required to take out by government statute.

D. Covers that insurers must provide under Prescribed Contracts such as flood and terrorism.

	1012
	Which of the following is not a participant in the Insurance Market?

Circle one of the following 
:

A. Customers (Policyholders and Claimants)

B. The Equal Opportunity Commissioner

C. Insurers and their agents

D. Insurance Intermediaries

	1012
	Which of the following is not a type of insurance risk product? Circle one of the following 
:

A. Life Insurance

B. Housing Loan

C. General Insurance

D. Health Insurance

	1012
	Which of the following is not one of the components that a prudent insurer would include in deciding what level of premium to charge a client for insurance cover.

Circle one of the following
:

A. The expected claims costs of the cover.

B. The amount of GST, Stamp Duty and Fires Service Levy the client will have to pay.

C. The expected expenses and commissions payable to sell and administer the cover.

D. The amount of investment income and profitability expected from the product.

	1012
	Which of the following options contain covers that are not classes of General Insurance? 

Circle one of the following 
:

A. Plutus, Combined Indemnity

B. Motor Vehicle, Workers Compensation

C. Personal Accident, Business Interruption

D. Home Buildings, Contents and Personal Property 

	1012
	Which of the following situations are examples of insurance products being developed to meet the needs and expectations in the community over the past 25 years?

Circle one of the following
:

A. Tax Audit expenses
B. All of these are New Products.

C. Mobile Phone, Laptop, Builders Warranty cover.

D. Liability and Legal Expenses cover arising out of employment litigation.

	1012
	Which of the following statements about General Insurance policies are correct?

Circle T for True or F for False by each statement below
.

They contain a definition of who is insured, the start and end date of the policy, what risks or events are covered.










T F

The events or risks that are not covered are called extensions.




T F

A policy can only be issued after an Interim Contract has been issued and a written proposal form completed.










T F

They include various conditions that both the insured and insurer are required to comply with.












T F

	1012
	Which one of the following is not one of the problems facing insurers in developing a new insurance product (compared to an existing insurance product)?

Circle one of the following
:

A. They are unsure if there is a real demand for the product and that it will sell successfully.

B. They are unable to get accurate historic data to determine the likely claims costs of the product.

C. They do not necessarily understand all of the types of claims that may arise and be unintentionally covered under the policy.

D. They are unsure about the Interest Rates that will apply to any investment funds generated by the product.

	1012
	Which one of the following statements on the decisions made on individual underwriting and claims matters is correct?

Circle one of the following
:

A. If I do make a mistake on the pricing or acceptance of insurance it will become immediately apparent in the results of the insurer.

B. With the thousands of policies an insurer issues, one or two wrong decisions by me every week will have no impact on the result.

C. Insurers always build in a price margin to cover for the poor decision making of underwriters and claims staff.

D. Consistent poor decision making on risk acceptance, pricing and claims will inevitably lead to an insurer losing money.

	1012
	Business Interruption Policies are designed to protect the profits of a business after physical damage interrupts the activities of the business. Which one of the following statements is false?

Circle one of the following
:

A. BI policies can only be taken out if you have lodged the prior year’s tax return.

B. BI policies usually allow the insured to select a length of time that they wish to insure the interruption for.

C. BI policies can also provide protection for things such as accountancy fees and increased cost of working.

D. BI policies usually only respond if the physical damage causing the interruption is insured.

	1012
	Consumer Credit Insurance is designed to provide cover for which of the following situations?

Circle one of the following
:

A. It guarantees consumers that they will be able to pay all of their bills when they become due.

B. It provides business protection against other businesses going broke and then being unable to pay their bills.

C. It helps consumers borrow more money when they want to buy things.

D. If consumers suffer an accident, illness or unemployment it will help pay some or all of their credit responsibilities.

	1012
	Fidelity policies cover which one of the following situations?

Circle one of the following
:

A. A break in by a burglar and subsequent theft of cash from a locked safe.

B. Loss of stock due to shoplifting by friends of staff.

C. Theft or misappropriation of company assets by one or more staff.

D. Theft or misappropriation of staffs belongings by other staff.

	1012
	In Australia under what piece of legislation are six classes of personal lines insurance defined as Prescribed Contracts?

Circle one of the following
:

A. The Insurance Contracts Act 1984.

B. All of these.

C. The Corporations Act 2001

D. The Agents and Brokers Act

	1012
	Insurance policies usually have conditions and exclusions attached or incorporated into them.  Which one of the following statements about Conditions and Exclusions is correct?

Circle one of the following
:

A. A standard exclusion in most domestic polices is "Acts of God"

B. A standard exclusion is "loss arising out of wear, tear and gradual deterioration"

C. A usual condition in a policy requires payment of the premium by the expiry date.

D. 4
A standard condition is that homes unoccupied for more than 10 days may lose insurance cover unless the insurer is notified and agrees.

	1012
	Personal Effects Insurance is designed to provide broad coverage for personal belongings with cover not limited to a specific location.  Which one of the following losses would you expect to be covered by such a policy?

Circle one of the following
:

A. A breakage to a golf club, tennis racquet or cricket bat whilst being used in a practice match.

B. Loss of jewellery whilst on a holiday to Italy, that includes a stop over in Hong Kong.

C. Repairs to a gold plated bracelet that has lost its luster over time.

D. Theft of handbag, wallet and valuables from the boot of a locked vehicle.

	1012
	Private Motor insurance policies provide cover for which one of the scenarios.

Circle one of the following
:

A. I lost control of my car due to speeding on the way to the hospital and hit another vehicle.

B. Whilst driving under the speed limit I ran into a person and injured them.

C. I couldn't afford to replace the completely bald tyres on my car and because of this I lost control under breaking and wrote my car off.

D. I arranged to have my car stolen by a friend, as I couldn't get the price I wanted when I tried to sell it.

	1012
	Professional Indemnity policies have two significant differences to Public Liability policies.  Which one of the following statements is correct?

Circle one of the following
:

A. Public Liability is suitable for the professional occupations whilst Professional Indemnity is suitable for all businesses.

B. Professional Indemnity policies respond to third party bodily injury or property damage arising out of the activities of the business.

C. Public Liability policies respond to third party financial losses arising out of the professional activities of the business.

D. Professional Indemnity is usually written on a Claims Made basis whilst Public Liability cover is written on a Date of Occurrence basis 

	1012
	Select the most accurate statement below regarding the operation of a Contract Works policy.

Circle one of the following
:

E. Contract Works policies pay for loss or damage to the physical construction, building material and tools.

F. Contract Works policies protect the owner of the building from the builder going bankrupt.

G. Contract Works policies guarantee that building projects will be completed on time.

H. Contract Works policies can only be taken out after the foundation work for the construction is completed.

	1012
	The usual Contents Insurance Policy does not cover which of the following situations:

Circle one of the following
:

A. The cost of replacing my jewellery stolen during a break in at my house.

B. My liability arising out of accidentally injuring someone in the street.

C. The cost of replacing my contents damaged by a fire.

D. The cost of replacing my golf clubs when they are stolen from my car at the local golf club.

	1012
	Traditionally commercial buildings, stock and contents were insured under a Fire and Perils policy.  Which one of the following is not a group of perils usually covered by such a policy?

Circle one of the following
:

A. Explosion, lightning and thunderbolt

B. Malicious damage, bursting or leaking of water device.

C. Machinery breakdown, electrical breakdown, burglary

D. Impact, earthquake, storm and tempest 

	1012
	Which of the following is a good reason to take out Travel Insurance if you are planning a trip overseas?

Circle one of the following
:

A. You can get cover for cancellation if you decide that you do not want to go because you lost your job.

B. None of these is a good reason to take out Travel Insurance.

C. If you think you are likely to be injured bungy jumping whilst under the influence of alcohol.

D. You can get cover for medical expenses, luggage, emergency services, and cancellation due to ill health.

	1012
	Which of the following is an example of the additional cover provided by "Standard Cover" under a Home Building Prescribed Contract that has not historically been provided by insurers in the marketplace.

Circle one of the following 
:

A. Flood cover

B. Fire and Explosion

C. Malicious Damage

D. Earthquake

	1012
	Which of the following is not one of six types of Prescribed Contracts?

Circle one of the following 
:

A. Personal Accident & Sickness, Consumer Credit, Travel

B. Home Buildings, Contents,

C. Motor Vehicle

D. Marine Insurance

	1012
	Which one of the following statements about "Standard Cover" is correct?

Circle one of the following
:

A. Insurers cannot give more than Standard Cover except when the business is being serviced by a broker.

B. Insurers must always give at least the same cover as Standard Cover and can give more but cannot charge for it.

C. It is specified in the regulations and insurers must advise clients if they are providing less than this cover.

D. Standard Cover is generally more limited than what is available in the marketplace.

	1012
	Which one of the following statements about Personal Accident insurance is correct?

Circle one of the following
:

A. Cover can be extended to pick up the gap between Medicare payments and what doctors and hospitals charge for their Medicare services.

B. Cover can include weekly and lump sum benefits payable for both accident and illness

C. Cover is only available if you are self employed and are injured at work

D. You cannot insure for death cover, only life insurance companies can provide this type of cover.

	1012
	Which one of the following statements about Pleasurecraft insurance is incorrect?

Circle one of the following
:

A. It provides cover for physical loss or damage to personal use boats and their trailers.

B. It is not included under the Prescribed Contracts under the Insurance Contracts Act.

C. It protects boat users against any legal liability arising out of the ownership or usage of a private pleasurecraft.

D. It can be extended to include items usually stored or used in conjunction with the boat as well for water-skiers liability.

	1012
	Which one of the following statements about the Home Building Policy is correct?

Circle one of the following
:

A. Cover includes damage to buildings, loss of rent and liability arising out of the ownership of the building.

B. Cover includes all buildings contents and personal effects.

C. There is no Liability cover under this policy.

D. Perils typically covered include fire, explosion, theft, flood, terrorism, and acts of god.

	1012
	Which one of the following statements best describes the way tax is applied to insurance products?

Circle one of the following
:

A. Stamp Duty is not charged if GST applies to an insurance premium.

B. Fires Service Levies, Stamp Duty and GST rates are the same through out Australia.

C. GST is calculated on the total of premium plus fire service levy, then stamp duty is calculated on this total plus GST.

D. Fire Service levy is calculated on the total of premium, stamp duty and GST.

	1012
	Which one of the following statements regarding Agents and Brokers Fees and Commissions is correct?

Circle one of the following
:

A. Agents and Brokers cannot receive commission and fees on the same policy.

B. When a net premium is charged this have the effect of increasing the premium payable by the client.

C. An agent or broker must disclose to the client separately any fees that they are charging the client.

D. If a broker is paid commission by an insurer they are automatically deemed to be an agent for the insurer.

	1013
	If you were a customer contacting an insurer about a claim for the first time which one of the following would impress you?

Circle one of the following
:

A. A calm and reassuring response to your call, that quickly gathers the relevant information and explains the process to follow.

B. Talking to someone who contradicts themselves, seems unsure of what should be done and what coverage you have.

C. Being asked questions from a script with no change in tone regardless of the information provided.

D. Immediate questions on the veracity and correctness of the information being provided.

	1013
	The aims of the Corporations Act 2001 include:

Circle one of the following
:

A. Help consumers make informed choices when buying financial products and services.

B. Ensuring that business providing financial services do so in a fair and efficient manner.
C. Ensure the knowledge; skills and integrity of providers of financial services are appropriate to their activities and the client’s needs.

D. All of these are correct.

	1013
	The Claims Process includes four basic stages. These can be best listed as:

Circle one of the following
:

A. First contact, lodgment, management, responding to the customer.

B. Claim incident, claim damage, confirm cover, repair or replace.

C. No two claims are the same, and the steps are never the same.

D.  Investigate claim, check coverage, check for fraud, double-check proposal 

	1013
	The legal requirements for insurers and intermediaries that operate in the insurance marketplace are spelt out in various pieces of Government legislation.  Which of the following is one such piece of current Legislation?

Circle one of the following 
:

A. The Corporations Act 2001
B. The Insurance (Agents and Brokers) Act 1984

C. The General Insurance Code of Practice

D. The Insurance Concepts Act 1984

	1013
	Underwriting is a process of matching an insurance product to customers needs.  Part of this process includes:

Circle one of the following
:

A. Assessing the risk of loss by reference to issues such as age of the driver, fire protection, claims history, occupation, location etc.

B. Insurance is a gamble.  Underwriting is the process of giving the insurer a better than even chance of making some money.

C. Gathering sufficient information about the risks facing a client to enable exclusions to be applied to eliminate all exposures.

D. Setting a suitable premium that will cover the cost of claims, commission, administration costs and government levies, taxes and charges.

	1013
	A component of controlling the professional delivery of insurance services to customers is the General Insurance Code of Practice and the Insurance Brokers Code of Practice.

Circle one of the following
:

A. We do not need to tell the client whether we are acting on their behalf or that of the insurer.

B. We must act promptly and avoid unnecessary delays, particularly in relation to notifying clients about claims.

C. The client has the responsibility to follow up the insurer or broker when things do not happen as they should.

D. The Duty of Utmost Good Faith has been replaced by the Codes of Practice.

	1013
	Customer Service is important because

Circle one of the following
:

A. An insurer may have to hold a customer for 3 years to break even due to acquisition costs.

B. New customers generally have a lower loss ratio than existing customers do.

C. New business is cheaper than existing business to administer.

D. The most profitable customers are those that change from one insurer to another year after year in search of the lowest premium.

	1013
	A Credit Card Payment Surcharge must meet which of the following rules:

Circle one of the following
:

I. There are no rules, you can charge whatever the client will pay.
J. We can pass on the Credit Card fee and a reasonable allowance for our administration and profit..

K. We can pass on the Credit Card fee and only some limited direct Credit Card management expenses.
L. The payment surcharge rules only apply to over the counter / retail shop transactions.

	1013
	Establishing relationships with customers is an important part of delivering good customer service.  Which one of the following is the best way to establish a relationship?

Circle one of the following
:

A. 1
Ensure the client has received all of the relevant paperwork and read it prior to trying to help them with their query.

B. 2
Treat all customers the same, this way you will never offend anyone or create situations that you may not be able to handle.

C. 3
Make sure the customer understands that you are just doing your job.

D. 4
Be interested, supportive and professional to build trust by using effective communication.

	1013
	Which of the following should you do when offering a client a solution
?

Circle one of the following:

A. Be polite, patient, show respect, use plain English, put yourself in the clients shoes.

B. Let them know if you are uncertain or unsure of an answer, call on someone to help you and act within your authority.

C. Make sure that you comply with all statutory requirements and provide the client with all required documentation.

D. All of these are part of offering a customer a solution.

	1013
	Which one of the following statements about Needs Analysis is correct?

Circle one of the following
:

A. Most customers already know what they want; they already have insurance in place.  In these cases a Needs Analysis is not required.

B. The Privacy Act 1988 stops us from asking questions of the client that would help us to fully understand their needs.

C. The Needs Analysis process should be done after you have offered a client your full range of insurance products.

D. The Needs Analysis should provide you with a picture of the insureds requirements and priorities and help you recommend the best product.

	1014
	A Financial Services Guide (FSG) must contain:

Circle one of the following 
:

A. The name and address of the client that is receiving the advice.

B. The Training Policy of the adviser.

C. Any relationships the adviser has with insurers.

D. Information on how the adviser will provide information to the adviser.

	1014
	A Product Disclosure Statement (PDS) must contain:

Circle one of the following 
:

A. Information on the Training Policy of the insurer

B. Any significant risks associated with the product.

C. Details of the solvency of the insurer issuing the PDS.

D. The name and contact details of the adviser.

	1014
	A Statement Of Advice (SOA) does not have to contain:

Circle one of the following 
:

A. The basis for any advice given

B. The actual advice being given to the client.

C. Information about any relationships the client has with an insurer.

D. A warning about the Duty of Disclosure.

	1014
	An important step in providing appropriate Personal Accident advice is gathering information about the client. This should include:

Circle one of the following 
:

A. Who the insured is currently insured with and how much are they currently paying for their insurance.

B. The customer’s age, race, religion and political beliefs. This can be done by using a personal values statement.

C. The customer’s situation, personal details, financial status. This can be done by using a fact finder.

D. Ensuring you collect only the information required to provide an accurate quotation.

	1014
	In tailoring a Personal Accident cover which of the following would usually have the effect of increasing the premium payable?

Circle one of the following 
:

A. Reducing the amount of coverage for weekly benefits from 100 to 80 

B. Increase the waiting period before benefits can be claimed.

C. Extending the period that benefits will be paid for.

D. Excluding situations or events that are already adequately covered by other insurance arrangements.

	1014
	Once you have identified the Personal Accident needs of your client you need to be able to recommend a product that meets those needs.  Which of the following would usually be part of this decision making process.

Circle one of the following
 :

A. Benefit level and structure, waiting periods.

B. Pre existing illnesses

C. All of these

D. Policy exclusions, policy conditions, cancelable/non cancelable policies.

	1014
	Once you have provided the client with a report there is often some negotiation on the best solution for the client. Typically this will not involve :

Circle one of the following 
:

A. A review of the situation once the client is faced with a written report that they have to make a decision on.

B. Finding out which insurer is the easiest to defraud.

C. The price of the various products available and the fees being charged for the services provided.

D. Options to amend the cover in some shape or form.

	1014
	Once you have sold a client a Personal Accident policy and the paperwork has been issued you should:

Circle one of the following 
:

A. Take a Becks and have a good lie down.

B. Ensure that you have all of the relevant information filed appropriately for further reference if required.

C. Look for opportunities to cross sell the client other products at the appropriate time.

D. Set up a procedure to regularly review the insured’s circumstances and needs to ensure the product remains appropriate.

	1014
	Problems may arise in Personal Accident cover if

Circle one of the following 
:

A. Pre Existing medical conditions are clarified and identified at the time the insurance is arranged.

B. The differences between Personal Accident general insurance and Life Insurance options are explained.

C. We take the approach that people never understand or want to pay for the cover that they really need.

D. Advisers identify the insureds needs and clearly explain what the exact nature and limitations of the coverage are.

	1014
	The use of the term "accident" is an important part of the coverage provided by a Personal Accident product. Which of the following is the most correct definition of "accidental"?

Circle one of the following 
:

A. Caused by violent, accidental, external, visible means.

B. Caused by an unforeseen set of events from the viewpoint of the insure d.

C. Caused by aggressive, unforeseen and forcible circumstances

D. Caused by a chain of events the first of which must be the insured proximate cause.

	A. 1014
	What is one of the special characteristics of Personal Accident Insurance compared to all other general Insurance Covers?

Circle one of the following 
:

A. Personal Accident cover is the only policy where coverage can be extended worldwide.

B. Personal Accident cover is the only general insurance product that provides death cover.

C. To be able to provide advice on this product to Retail Customers you must have met the Tier 1 Training requirements spelt out by ASIC.

D. P. A. is the only cover that is both a Prescribed Contract under the Contracts Act and a product that fits the CORPS ACT 2001 Retail definition.

	1014
	When analysing the information that you have received from a Personal Accident client you may often need to refer to:

Circle one of the following 
:

A. The client’s bank or financial institution to verify the financial information provided is correct.

B. All of these are correct.

C. A Tier 2 Accredited adviser.

D. Insurance experts, medical/paramedical advisers.

	1014
	When assessing clients Personal Accident needs which of the following might a prudent adviser ignore in their thought processes.

Circle one of the following 
:

A. The amount of commission that the adviser will earn.

B. The need for money to be provided in the event of an insured event for things such as mortgage repayments, family living expenses.

C. Other insurance available to the insured such as workers compensation, superannuation, employee sponsored benefits, life insurance coverage.

D. The insured's current age, state of health, occupation, lifestyle and financial and social commitments.

	1014
	When presenting your solutions to the client for Personal Accident the written report should contain:

Circle one of the following 
:

A. A Disclaimer stating that you are not liable for any advice given.

B. The insurance needs identified in the information gathering process.

C. Details on all Personal Accident Policies that you know about.

D. Your present situation and needs.

	1014
	Which of the following is not one of the coverages available under a General Insurance Personal Accident Insurance Policy?

Circle one of the following :

A. Payment on death from all causes
.

B. Lump sum payment due to accident or illness including payment due to the loss of use of part of the body.

C. Payment on accidental death

D. Regular payment to supplement or replace your income due to an accident or illness.

	1014
	Which of the following statements about Accidental Death in relation to Personal Accident cover are correct?

Circle one of the following 
:

A. The premiums are generally cheaper than comparable Life Insurance sums insured and the policy can be taken out for only one or two years.

B. As the policy only covers accidents, the age of the insured is not relevant when deciding on insuring someone under this policy.

C. The policy does not normally have any exclusions, as long as the death is caused by an accident.

D. The policy must be taken out for life, otherwise an additional premium is payable.

	1014
	Which of the following statements about Accidental Death Insurance in relation to Personal Accident insurance is incorrect?

Circle one of the following 
:

A. Cover can be extended to include additional expense items such as funeral, legal, medical and other additional costs.

B. Cover is not indemnity; the amount of cover purchased is often driven by the affordability of the premiums involved.

C. Cover can be provided for accident only.

D. Cover is guaranteed renewable for an additional premium.

	1014
	Which of the following statements about Personal Accident insurance are true?

Circle one of the following 
:

A. A Table of maims spells out who will be paid when an insured event occurs.

B. Disability cover does not respond to situations involving permanent, total or partial disablement.

C. Illness cover is always limited to specified illnesses only.

D. Cover can be provided for injury as well as death.

	1014
	Confirming the clients acceptance of advice is important because.

Circle one of the following 
:

A. It forms part of the proposal form and will be part of the risk acceptance process.

B. Insurers will only accept risks that have the confirmation attached to the proposal.

C. Once they confirm they cannot get out of the deal.

D. The confirmation is evidence that the client has received, understood and accepted the advice provided.

	101B
	Which of the following is not a prescribed contract in terms of the Insurance Contracts Act 1984
?

A. Motor vehicle insurance

B. Sickness and accident insurance

C. Fire insurance

D. Home building and contents insurance

	101B
	Which of the following is the opposite of inflation
?

A. Reflation

B. Deflation

C. Stagflation

D. Conflation

	101B
	Into which category would you place the following clause? 'This insured event does not insure destruction or damage caused to a building when the building is owned by you but not occupied by you'
.

A. An exclusion

B. A policy term

C. A condition

D. An endorsement

	101B
	Which of the following steps should come first in the process of providing insurance products
?

A. Presenting the policy to the customer

B. Offering the customer a solution

C. Analysing the customer's needs

D. Gaining agreement from the customer

	101B
	Which of the following sources of information would not assist a claims officer in establishing the insured’s liability and estimating costs at the time a claim is lodged
?

A. The claimant's account of the event and the damage or loss

B. The Police report

C. A quotation for repair or replacement of the lost or damaged item

D. The policy schedule

	101B
	Which of the following is an example of a fraudulent claim that might be made on an insurance policy
?

A. Claiming for non-existent property

B. Claiming for deliberate damage

C. Inflating a claim to include more property than was lost or stolen

D. All the above

	101B
	For taxation purposes in Australia all documents must be kept for what period
?

A. 7 years

B. 10 years

C. 18 months

D. 5 years

	101B
	Which of the following types of policy does the Australian Financial Complaints Authority (AFCA) typically not deal with
?

A. Motor vehicle policies

B. Home and contents policies

C. ISR policies

D. Sickness and accident policies 

	101B
	Which of the following statements is/are correct In terms of the Corporations Act (S1019).  Purchasers of general insurance products will have alternative cooling off periods which will begin
: 

A. 21 days from the end of the 5th day after the day on which the product was issued or sold to the client

B. 14 days from the end of the 5th day on which the product was issued or sold to the client

C. 7 days from the time a confirmation requirement is complied with

D. 21 days from which a confirmation requirement is complied with  

	101B
	To calculate the tax on insurance products in which order must the following steps be taken
?

1. Determine and apply a rate for the product

2. Add GST

3. Apply stamp duty

4. Add fire Services Levy (if applicable) 

A. 1, 2,3, 4

B. 1, 4,2, 3

C. 1, 3, 4, 2

D. 1, 4,3, 2 

	101B
	A licensee can operate as the authorised representative of another licencee only when they are acting
: 

A. As an agent

B. As a foreign registered insurance agent

C. Under a binder agreement

D. All the above 

	101B
	The definition of financial products in the Corporations Act & Regulations excludes which of the following insurance products
?

A. Motor vehicle

B. Workers' compensation

C. Marine insurance

D. Home contents 

	101S
	One of the key stages involved in the provision of insurance products is analysing the customer’s needs.  This will usually include
:

A. Having the customer complete some form of needs analysis, fact finder or quotation sheet so that we gain all of the necessary information on the customer’s situation and circumstance.

B. Discussing any ambiguous responses and clarifying and prioritising the customer’s needs.

C. Referring to technical specialists etc for further information or advice on more difficult or complex issues.

D. All of the above.  

	101S
	When providing a customer a solution to an enquiry for the provision of insurance products we should
:

A. Never provide our solution in writing.

B. Be as vague as possible about the cost and benefits of our solution.

C. Explain how our solution will meet some or all of the needs of the customer.

D. Make sure we have recommended the cheapest alternative from all of the options available. 

	101S
	When presenting the policy to the customer at the time of purchase we should
:

A. Ensure we explain in simple terms the key features of the product.

B. Not worry about any unusual terms or harsh policy conditions or major exclusions.

C. Encourage the customer to read the policy in full and raise any questions that they have.

D. A) and C)

	101S
	Insurance brokers and insurance agents (acting on behalf of the insurer) play different roles in the provision of financial services.  Which of the following statements is true
?

A. The conduct and performance of agents is the responsibility of their insurer(s) and is controlled by the General Insurance Code of Practice, whilst that of a broker is controlled by the Insurance Brokers Code of Practice.
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B. An agent always should act in the best interests of the insurer; the broker must act in the best interests of the client (except when acting under an insurer binder).



T F

C. Premium paid to an agent is deemed to be paid to the insurer, whilst premium paid to the broker is not deemed to be paid to the insurer.
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D. In many cases the agent may deal with either one or a small number of insurers whilst an insurance broker is likely to deal with a broad range of insurers.
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	101S
	The purpose and content of a Financial Services Guide includes
:

A. Providing a Wholesale Client with relevant and factual information about the business that is providing the financial services in order for the client to make an informed decision about using the business.

B. Providing specific information on type of services the business is licensed to provide, its contact details and any associations the business has with suppliers it recommends.

C. Providing a disclaimer waiving all responsibility for any advice or recommendations provided.

D. Providing the names and contact numbers of all management and staff of the business.

	101S
	The purpose and content of a Statement of Advice (SOA) includes
:

A. Providing a Client to whom you have given Personal Advice a written document that details the advice given so that the client can make an informed and considered decision about the advice provided.

B. Information about the needs of the client and how any product recommended will meet those needs.

C. Information about the income (commission, fees etc) to be received by the staff member, business and any other parties should the advice be acted upon.

D. All of the above

	101S
	The purpose and content of Product Disclosure Statement (PDS) includes
:

A)
Providing the client with clear, concise and objective information about the product, so that the client can make an informed decision about whether to purchase the product.

B) Information about the insurer and how they can be contacted.

C) What are the main covers provided and importantly what the potential risks and disadvantages involved in the product?

D) All of the above.

	101S
	Which of the following is not an opportunity to gain customer feedback
:

A. After a claim has been settled.

B. After you have provided a service to the customer.

C. After the customer has contacted your organisation with a query or issue they want resolved.

D. Prior to having any dealings with the customer.

	101S
	Which of the following best defines customer feedback
?

A. Specific information received directly from the client by way of a formal survey about the way they feel about the services and products provided by the organisation to the customer.

B. Any information received by the business from their customers about how the customer perceives the performance of the business.

C. Complaints received from staff about the behaviour of customers.

D. General criticism received by the industry in the media.

	101S
	Which of the following could be considered to be a fraud indicator when reviewing a claim situation
?

A. The loss occurring within a few days or weeks of the insurance cover being arranged.

B. The insured insisting on cash settlement rather than having the item repaired or replaced.

C. Inconsistent and incomplete information provided in support of the claim.

D. All of the above.

	101S
	An insured effected a level premium policy in 1980 and has been paying the premium of $80 per annum ever since. Which of the following has occurred as a result of inflation over that time
?

A. the real cost of premiums has increased

B. the real cost of premiums has reduced 

C. the real cost of premiums has remained constant 

D. the real cost of premiums has been offset by the effects of CPI

	101S
	An Broking Account Manager does which of the following
?

A. handles disputes with customers 

B. ensures that claims are paid promptly 

C. matches an insurance product to a customer's needs

D. all the above 

	101S
	General insurance products are priced on which of the following basis
?

A. the level of risk to the insured

B. the level of risk to the insurer 

C. the level of risk to the public at large

D. the level of risk for like objects 

	101S
	The direct selling of insurance products through call centres offers an insurer which of the following advantages
?

A. The insurer may save administrative costs 

B. The insurer retains control over the business being written

C. The insurer can offer 24 hour service 

D. All of the above.

	101S
	What is the term used to describe the economic situation when income levels are constant but price levels are decreasing
?

A. gearing differential

B. negative growth

C. Inflation

D. deflation 

	101S
	Which of the following is not a financial intermediary
?

A. an insurance broker 

B. a broker acting under a binder

C. an insurance agent

D. a loss adjuster 

	101S
	Which of the following is not a financial product
?

A. Property

B. Lending

C. Derivatives

D. Cash

	101S
	Which of the following is not an ethical requirement when dealing with customers
?

A. To act within one's authority levels.

B. To act promptly and avoid unnecessary delays.

C. To avoid misrepresentation.

D. To act with the utmost good faith.

	101S
	Which of the following statements is correct in relation to interest rates within the economic environment
?

A. when the demand for money increases, interest rates decline 

B. when the supply of money is reduced, interest rates increase 

C. when the demand for money is reduced, interest rates increase 

D. when the supply of money is reduced, the demand for money also reduces

	101S
	Which of the following statements is correct? When an economic business is in recession
:

A. wholesale customers are likely to invest more 

B. there is a neutral impact on the financial markets 

C. wholesale customers are less likely to borrow funds 

D. retail customers are more likely to borrow large amounts of funds 

	101S
	Which of the following statements is correct? When an economic business cycle is booming: 

A. wholesale customers are likely to invest more

B. there is a negative impact on the financial markets

C. retail customers are less likely to invest funds

D. wholesale customers are less likely to borrow funds 

	101S
	The price for insurance coverage is the premium. Which of the following is/are correct
?

1. high risks attract high premiums 

2. the risk of frequent small claims may increase premiums 

3. a history of claims may attract high premiums 

4. the possibility of a single large claim may attract a high premium 

A. 1 only

B. 1 and 2

C. 2 and 3

D. all the above 

	101S
	What is the primary aim of a complaint letter
?

A. To obtain an explanation.

B. To ensure that there will not be a repetition.

C.  To receive an apology.

D. To seek satisfactory rectification.

	101S
	Which of the following best describes the role of the insurance broker? The broker acts on behalf of
: 

A. An insurer in placing insurance.

B. The shareholders of a company to purchase shares in public companies listed on the stock exchange.

C. An insurer to put shares listed in a publicly listed company.
D. An insured to place insurance.

	1021
	Contracts
:

A. Are the same as agreements.

B. Must have the elements of Intention, Agreement, Consideration, Legal Capacity and Purpose and Consent

C. Can be entered into without consent by one of the parties

D. Are valid if consent is based on legality of purpose.

	1021
	Disputes involving insurance policies are classified as
:

A. Public disputes

B. Private civil disputes

C. Criminal cases

D. All of the above

	1021
	Insurance contracts must conform to the same requirements as other contracts however they also include specific insurance requirements as follows
:

A. Every policy must be based on a written proposal.

B. Every insurance contract starts with an Interim Contract

C. The contract usually comprises of a Policy Wording and a Policy Schedule.

D. Every insurance contract must run for a twelve-month term.

	1021
	Statute Law
:

A. Overrides case law where they are in conflict.

B. Is law made by any government body or organisation.

C. Is only developed where there is a shortage of Case Law to provide guidance to the community.

D. Is not subject to interpretation by the courts.

	1021
	The doctrine of Precedent means
:

A. Judges are able to look at each case on its merits regardless of previous decisions by other judges.

B. The decisions of lower courts are binding on higher courts.

C. There is an element of certainty in the way that courts are expected to rule on the same matters.

D. Cases heard in the last ten years take precedence over those heard more than 10 years ago.

	1021
	Under the Common Law system law is developed by
:

A. Case Law and Statute Law

B. Civil Law and judge made law

C. Codes of written laws

D. The High Court of Australia

	1021
	Which of the following is not one of Statute Laws that effects insurance
:

A. Insurance Contracts Act 1984

B. The Corporations Act
C. The Financial Services Replacement Act 2002

D. Marine Insurance Act 1909

	1021
	If an insurer fails to give the insured the required notice for the renewal of a contract under Section 58 of the Insurance Contracts Act

A. The insured has the right to automatically renew the policy at the expiring terms.

B. The cover continues at expiring premium rates until cancelled, replaced or after a period equal to the original period of insurance.

C. The insured must advise the insurer within 28 days of their requirement to have the policy renewed.

D. None of the above.

	1021
	In many cases insured’s may have two policies covering the same loss, this means
:

A. As they have paid both premiums they can recover the full amount from both policies.

B. Section 45 of the Contracts Act allows the insured to select which of the two policies they wish to claim under and Section 76 allows the insurers to split the loss between them.

C. Each insurer is entitled to apply the usual “Other Insurance Exclusion” that applies in insurance policies.

D. The insured is entitled to a full refund under one of the two policies.

	1021
	Prescribed Contracts under the Insurance Contracts Act do not include
:

A. Home and Private Motor

B. Commercial Motor up to 2 ton

C. Personal Accident

D. Any contracts that the insurer wishes to nominate.

	1021
	Prior to the Contracts Act general insurers had no obligations to advise the insured of when a policy expired and what if any renewal offers were to be made.  Under Section 58 of the Insurance Contracts Act insurers are now obliged to
:

A. Provide 14 days written notice of the expiry date and time of the policy and of their intention to renew the policy.

B. Provide 28 days notice whether they wish to offer renewal of the policy.

C. Provide 21 days notice of their intention to not renew the policy.

D. Provide 7 days written notice of the insured’s Duty of Disclosure

	1021
	Section 21 and 22 of the Insurance Contracts Act deal with the insured’s duty of disclosure and what the insurer must do to make the insured aware of the Duty of Disclosure.  This means
:

A. If insurers do not provide information on Duty of Disclosure issues at the time of entering the contract that the insured’s is relieved of all Duty of Disclosure requirements.

B. The insured must disclose all information that an experienced insurance person would consider relevant to the insurer's decision to accept an insurance proposal and on what terms.

C. The insurer does not have to give any separate Duty of Disclosure notices on Prescribed Contracts as the Duty of Disclosure is automatically included in the Standard Policy Wording.

D. That for Prescribed Contracts, insurers must ask specific questions and waive compliance with the Duty of disclosure for any general and broad questions of the insured.

	1021
	Section 44 places certain requirements on insurers prior to them being able to apply the concept of Average to a claim
.

A. Insurers must give the insured 28 days notice of their intention to provide average.

B. Insurers must provide the insured with details of average and how it is applied in the event of a claim when the insurance is taken out.

C. Insurers must not use an average percentage of more than 90 % in their policy wordings

D. Average can only be applied were the amount of the loss exceeds more than 5 % of the sum insured.

	1021
	Sections 16 and 17 of The Insurance Contracts Act changed the way in which the concept of Insurable Interest is applied
:

A. By removing the need for Insurable Interest.

B. By removing the requirement that Insurable Interest had to exist at the time that the insurance was entered into.

C. By removing the requirement for the insured to have an interest at law or in equity in property to be able to claim pecuniary or economic loss arising out of damage to the property.

D. B and C

	1021
	Sections 20 and 48 of the Insurance Contracts Act extend the rights of people not named in a policy to be able to benefit under the policy.  The impact of these sections does not help
:

A. People who do not have an insurable interest at the time of the loss in the property the subject of the claim.

B. Mortgagees and other financiers who have an interest at the time of the loss in the property the subject of the claim.

C. Members of the insured’s family who are living with the insured and have their contents covered under the insured’s house and contents policy.

D. Disclosed drivers who are persons normally noted in a motor vehicle policy, driving the vehicle with the insured’s consent.

	1021
	Sections 21 and 22 of the Insurance Contracts Act spell out Duty of Disclosure requirements.  Which of the following would allow or enable the insurer to use the Duty of Disclosure requirements to avoid a contract or reduce the amount payable under a claim
?

A. An insured failing to provide details of one 5 year old speeding fine to a question regarding speeding fines in their recent driving history.

B. An insurer failing to give the insured any Duty of Disclosure information when the contract was entered into and the insured subsequently and inadvertently not advising the insurer of several material facts that would have affected the insurer’s acceptance of the proposal.

C. An insured who answered “Unsure” to a question requesting information on all Householder Claims in the past 5 years, even though they had 4 such claims.

D. An insured failing to provide details of their multiple convictions and loss of Licence (that occurred six months ago) to a question regarding all accidents, fines, convictions and traffic offences in the past 3 years.

	1021
	Sections 59 and 60 of the Insurance Contracts Act spell out the circumstances and rules surrounding an insurer’s right to cancel an insurance policy.  These include
:

A. Notice must be in writing and a minimum of 5 working days notice must be provided.

B. Insurers are unable to cancel policies retrospectively under any circumstances.

C. An insurer must give its reasons for canceling at the time of the cancellation.

D. Insurers can cancel due to non-payment, failure to observe specific provisions or conditions of the contract.

	1021
	Some types of insurance are specifically excluded from the impact of the Contracts Act including
:

A. Health Insurance, Reinsurance, Marine Insurance, Workers Compensation, CTP

B. Prescribed Contracts

C. Retail Products as defined under the CORPS ACT 2001

D. All of the above.

	1021
	Under Sections 28 – 32 of the Insurance Contracts Act there are various provisions that limit an insurer’s ability to not pay a claim because of misrepresentation.  One example of this is
:

A. Where the insured has fraudulently misrepresented material facts to the insurer.

B. Where the insured genuinely believes the answer to the question is true when they complete the proposal and many people at the same location would also believe such an answer to be true.

C. Where the question on the proposal is ambiguous.

D. Where the insured provides full and complete answers to all questions on the proposal including information that was not specifically requested.

	1021
	Under the Contracts Act the Duty of Disclosure does not apply
:

A. At renewal

B. When the policy is being extended, varied, reinstated or changed

C. When a new contract is agreed to.

D. At all times.

	1021
	Utmost Good Faith underpins Insurance Law.  Utmost Good Faith
:

a) Has been replaced by the Insurance Contracts Act.

b) Has been enshrined in Insurance Law in Sections 13 and 14 of the Insurance Contracts Act.

c) Does not apply to Prescribed Contracts

d) Only applies where there is no relevant Statute Law to rely on.

	1021
	Where there has been a failure to comply with the requirements of Non Disclosure by the insured Sections 28-32 of the Insurance Contracts Act sets out how the insurer is able to remedy such a failure
:

a) An insurer is able to cancel a policy in all such circumstances.

b) An insurer is able to cancel the policy from inception if the non-disclosure is fraudulent.

c) An insurer is able to rescind those parts of the contract that are subject to the non-disclosure.

d) The insurer is able to collect the additional premium applicable had a full disclosure been made.

	1021
	Which of the following is not a method of providing indemnity
:

a) Cash settlement

b) Replacement of 5 year old electrical goods with new items

c) Repair of a motor vehicle

d) Reinstatement of the damaged property

	1021
	Which of the following statements about subrogation is correct
?

a) Subrogation has no relationship to the concept of indemnity.

b) Under Sections 65 and 66 of the Contracts Act, insurers cannot recover claims costs from family and employees under any circumstances.

c) Subrogation precludes an insured from making a profit on an insurance claim.

d) Subrogation can only apply if a relevant clause has been included in the policy wording.

	1022
	Insurance is conducted within a legal framework.  Select the correct answer from the options below
.

a) Most insurance legislation is state legislation.

b) The Australian Constitution gives the Commonwealth Government the power to make laws in relation to insurance.

c) APRA is short for the Australian Premium Regulation Authority

d) APRA administers the Corps Act 2001.

	1022
	ASIC is responsible for administering
:

a) The Insurance Contracts Act, The Corporations Act

b) The Corps Act 2001, The Insurance (Agents and Brokers) Act

c) The Australian Securities and Investments Commissions Act

d) All of the above

	1022
	Why did the Government pass the Insurance Act of 1973
?

a) To reduce the risk of insurers collapsing due to solvency problems.

b) To create public confidence in the insurance industry.

c) To guarantee that all policy holders would be paid their claims.

d) A) and b)

	1022
	The recently released General Insurance Reform Act
:

a) Replaces the Insurance Act of 1973.

b) Increases the prudential requirements that insurers must meet to be able to get and maintain a license.

c) Is part of the Corps Act 2001

d) Includes a 3-year transition period for existing insurers.

	1022
	The Insurance Act 
:

a) Provides for the licensing of general insurance companies, including regular reporting and approval of reinsurance arrangements

b) Has no requirement on an insurer’s financial strength; however the business must always be solvent.

c) Does not apply to insurers with overseas parents or insurers listed on the Australian Stock Exchange

d) Requires insurers to maintain a minimum $2 M of premium to keep their license.

	1022
	The solvency margin of an insurer is based on the concept that
:

a) Liabilities must exceed assets

b) Assets must exceed liabilities

c) Premium must exceed claims

d) The insurer must be solvent at the end of each year

	1022
	With the introduction of the General Insurance Reform Act which of the following statements is correct
:

a) The lower the risk involved in the insurers business the lower the capital required is.

b) Insurers must ensure senior management is “fit and proper”.

c) Insurers must appoint APRA approved Auditors and Actuaries.

d) All of the above.

	1022
	Under the General Insurance Reform Act APRA are able to publish standards that insurers are required to comply with.  Which of the following statements is correct
?

a) There is a standard covering the number of staff an insurer can employ.

b) There is a standard covering the amount of profit the insurer must make.

c) There is a standard covering the amount of capital the insurer must have.

d) None of the above.

	1022
	Which of the following is not one of the Prudential Standards that insurers are required to address as part of being licensed by APRA
.

a) Maintain a minimum capital requirement of $5 M

b) Establish a Board Audit Committee

c) Get APRA approval for their marketing and product development strategies

d) Get APRA approval for their business plans and financial projections

	1022
	The Contracts Act aims to improve communication between the insurers and the insured by
:

a) Imposing a Duty of Good Faith on both parties

b) Require insureds to comply with a Duty of Disclosure when entering insurance contracts

c) The introduction of Standard Contracts, that provide a “safety net” for most policies purchased by domestic consumers.

d) All of the above.

	1022
	The ASIC Act
:

a) Makes ASIC responsible for insurer solvency

b) Makes ASIC responsible for granting insurers an Insurance License

c) Makes ASIC responsible for promoting (in the Financial Markets) operational Integrity and Consumer Protection

d) Makes ASIC responsible for investigating any “anti competitive” actions of players in the Financial Services industry.

	1022
	Unconscionable Conduct will usually involve
:

a) Dealings between an insurer and a broker.

b) Dealings between a Financial Services provider and a customer who is unsure of the law, their insurance requirements and the products being sold to them.

c) Unauthorised Foreign Insurers

d) B) and C)

	1022
	To reduce the risk of being involved in misleading and deceptive conduct which of the following strategies would you recommend to your business
?

a) Promote to staff the values of truthfulness and honesty in all dealings with clients.

b) Train staff to have a good knowledge of their products and services, what they cover and what they do not.

c) Limit the amount of contact and advice given to the client to reduce the risk of the client getting the wrong impression.

d) A) and b)

	1022
	The main provisions of the Australian Competition and Consumer Act that impact on the insurance industry are
:

a) None, the ASIC and Corporations Act have all competition responsibilities for the insurance industry.

b) We should not be involved in any activities involving collusion or price fixing with our competitors.

c) We are not able to advertise the same price for the same product.

d) We are not able to provide different terms and conditions on covers to different brokers.

	1022
	The Exclusive Dealing (Third Line Forcing) makes which of the following activities illegal
?

a) Requiring a client to place their business cover with us in order to write their motor policy.

b) Requiring a broker to deal with QBEMM for their Marine cover if they deal with Concord.

c) Requiring a client to place their Liability business with UMS in order for Concord to write the ISR.

d) B) and c)

	1022
	In looking at the main differences between the ASIC/Australian Competition and Consumer Acts and the Insurance Contracts Act you could say that
:

a) Although they each address different issues they are all work to protect the consumer’s interests when dealing with Insurers.

b) The Contracts Act focuses on the dealings of the parties prior to the start of the policy coverage.

c) The ASIC and Australian Competition and Consumer Acts focus on dealings of the parties after the start of the policy coverage.

d) The Acts do not have any common purpose and create a complicated legal framework within which to operate.

	1022
	Credit Related Insurance has had consistent concerns expressed about it because
:

a) The product is not as broad in its coverage as it should be.

b) The product is sold as part of the purchase of another generally much more expensive product.

c) Consumers are led to believe that they have to purchase a particular product from a particular insurer and are forced into the purchase.

d) The interest rates charged on many contracts are seen to be exorbitant.

	1023
	One of the main objectives of the CORPS ACT 2001 is
:

a) Confident and informed decision making by Licence holders

b) Fairness, honest and professionalism by those who provide financial services

c) Replacement of the Agents and Brokers Act and the Insurance Contracts Act.

d) None of the above.

	1023
	The CORPS ACT 2001 has introduced a number of important new concepts
.

a) The difference between Consumers and Wholesalers

b) The difference between Retail Clients and Licensees.

c) The requirement for service providers to warn Retail Clients if they do not take their needs into account.

d) The requirement for agents to have 7 years training compared to 5 years under the Insurance Agents and Brokers Act.

	1023
	ASIC Regulatory Guides are best described as
:

a) Documents that provide guidance to Licensees on how to meet their obligations under the CORPS ACT 2001.

b) Annual returns that ASIC produce on the effectiveness of the legislation in several key areas.

c) Legal advice on the CORPS ACT 2001 and how it is to be interpreted.

d) A) and C)

	1023
	One of the main differences between the CORPS ACT 2001 and other insurance legislation is
:

a) Only the CORPS ACT 2001 is aimed at helping the consumer.

b) The CORPS ACT 2001 applies to a wide variety of financial services and is not specifically targeted at general insurance.

c) The CORPS ACT 2001 replaces both the Insurance Contracts Act and Insurance (Agents & Brokers) Act.

d) The Corps Act 2001 only applies to “Retail Clients” where as other insurance legislation applies to all clients.

	1023
	In which of the following situations would the client fall under the definition of a “Retail Client
”

a) Mrs. Jones buying comprehensive insurance for her car.

b) Mr. Jones seeking advice on what type of householders policy to buy.

c) A one-man business taking out Personal Accident insurance.

d) All of the above.

	1023
	Which of the following statements about who must hold an AFS Licence is correct
:

a) Insurers do not need a Licence as they are already appropriately controlled by APRA under the 1973 Insurance Act.

b) Any person or business that is involved in providing financial product advice must hold a license.

c) Any person or business that is involved in providing financial services must either hold a Licence or be an Authorised Representative of a Licensee.

d) Any person or business who is appropriately trained and maintains their training is excluded from the Licensing requirements.

	1023
	The CORPS ACT 2001 Act includes a broad definition of what is meant by Financial Services and then specifically excludes which of the following activities from the definition
?

a) Health insurance and state/commonwealth insurance.

b) Reinsurance and contracts providing funeral benefits

c) All insurance that is specifically excluded from the impact of the Insurance Contracts Act.

d) A) and b)

	1023
	Under the CORPS ACT 2001 and the Contracts Act is a renewal a separate contract and therefore classed as issuing a financial product
.

a) Yes

b) No

c) Yes but only when it involves a Retail Client

d) No except where it involves a cover that is Prescribed Contract sold to a Retail Client.

	1023
	An example of the additional protection that a Retail Client gets under the CORPS ACT 2001 is that Licensees dealing with Retail Clients 
:

a) Must have an internal dispute system, be members of an approved external dispute facility and have adequate Professional Indemnity cover.

b) Must provide clients with a Financial Services Guide at the time of or before providing financial services.

c) Must have always considered the client’s circumstances.

d) A) and b)

	1023
	Which of the following is one of the requirements involved in giving Personal Advice
?

a) You must make reasonable enquiries and determine the client’s personal circumstances.

b) Once you have collected the relevant information you must give the client appropriate advice and warn the client if advice was based on incomplete information.

c) You must provide a client with a written Statement of Advice and ,where you are recommending a particular product, a Product Disclosure Statement 

d) All of the above

	1023
	The difference between General Advice and Personal Advice is
:

A) You only have to give a Statement of Advice with General Advice.

B) With General Advice you must provide a warning that no account has been taken of the clients objectives, financial situation or needs.

C) You cannot give general advice to Retail Clients.

D) You can charge fees when providing Personal Advice but not when you are providing General Advice.

	1023
	Which of the following statements about the CORPS ACT 2001, Insurance Contracts Act and the Insurance Code of Practice is correct
.

a) Each has a slightly different definition for what is a consumer or a “Retail Client”.

b) The Contracts Act and The Code have adopted the CORPS ACT 2001 definition of a Retail Client.

c) The Contracts Act’s prescribed contracts definition has been expanded to include the exact products specified in the CORPS ACT 2001.

d) The differences in definition of who a consumer or “Retail Client” is make the whole CORPS ACT 2001 process unworkable.

	1023
	When a business applies for and is granted a Licence to provide general financial advice to wholesale clients on general insurance products 
:

a) The Licence will be limited to the specific activities that the business applied for.

b) It cannot delegate any authority to its Authorised Representatives.

c) It enables the business to offer a complete financial services solution to both Retail and Wholesale clients.

d) B) and c)

	1023
	Obligations of licensees include
:

a) Put a copy of their Licence in the public area of their workplace.

b) Provide all Retail Clients with a list of staff and their qualifications.

c) Maintain a record of training for staff providing Financial Services.

d) Only dealing with insurers that are licensed by APRA.

	1023
	The CORPS ACT 2001 has significant implications for both brokers and agents
.

a) Brokers can opt to continue to operate under the Insurance Agents and Brokers Act until March 2006.

b) If a broker (who is licensed) acts under a binder for an insurer they must act on behalf of the insurer and not the client.

c) Agents will automatically change to Authorised Representatives.

d) The licensing of the insurer they operate on behalf of automatically covers agents.

	1023
	Some of the controls on Authorised Representatives (AR’s) include
:

a) They cannot represent more than one licensee.

b) They do not have to meet the same training requirements as an employee of a licensee that is doing the same job.

c) They do not have to include the name and details of the Licensee they are acting for in their documentation to clients.

d) A licensee must advise ASIC of any new AR’s they appoint and any changes in the AR’s details.

	1023
	The CORPS ACT 2001 controls the way that a business is able to describe itself
:

a) Almost all licenses will not be able to use the word independent or impartial as they receive commissions from principals in conducting their business.

b) Only businesses that apply for the use as part of their Licence application can use the words insurance broker or general insurance broker in describing their activities.

c) Only licensees will be able to promote themselves in marketing brochures, seminars and the like.

d) A) and b)

	1023
	The CORPS ACT 2001 requires an FSG to be provided to all Retail Clients, preferably before Financial Services are provided.  The FSG must include
:

a) Information about the Licensee that would help the client may an informed decision about using the services of the licensee.

b) Information on the client, their needs, personal circumstances and financial objectives.

c) Whatever information the Licensee feels will best promote the services of the business.

d) The name and training qualifications of staff and the Responsible Officers.

	1023
	The CORPS ACT 2001 requires an SOA to be provided to Retail Clients when providing Personal Advice.  The SOA must include
:

a) Details of all commissions and other benefits payable to the licensee and any associated parties.

b) Details of the advice being given and the information used to develop the advice.

c) Details of any interests or associations or relationships between the provider and the insurer.

d) All of the above.

	1023
	The CORPS ACT 2001 requires a PDS to be provided to Retail Clients at the time of or before product recommendation or sale.  The PDS
:

a) Must be created by the licensee actually dealing with the client.

b) Must include information on the insurer and the product in such a way as to help the client make an informed choice about purchasing the product.

c) Must be a separate document to the Policy Wording.

d) Must include basic solvency information.

	1023
	ASIC Regulatory Guide 146 provides guidance on the training required by staff providing financial services
.

a) Tier 2 training is higher then Tier 1 training.

b) Only training bodies approved by ASIC are recognised.

c) You can use your prior experience as part of an assessment process in meeting the training requirements.

d) B) and C)

	1027
	Which of the following is a good reason for implementing Workplace Health and Safety in your workplace
?

a) Businesses have a moral obligation to protect workers and visitors from illness and injury.

b) A business can face hefty fines and penalties if they don’t make the workplace safe.

c) A business can face significant increased operating costs arising out of injury and illness

d) All of the above

	1027
	It is fair to say that in Australia WH & S is administered by
:

a) The Unions

b) The Employers

c) State legislation

d) The Workers Compensation Insurers 

	1027
	All WH&S Acts place certain requirements on employers.  These include
:

a) Ensure all workers are well paid and satisfied in their jobs.

b) Ensure all workers receive their minimum holiday pay and long service leave.

c) Provide safe systems of work.

d) A) and C) 

	1027
	Employees also have responsibilities to ensure safe workplaces.  These responsibilities include
:

a) Co-operating with the employer and meeting any health, safety and welfare requirements.

b) Always have a zero blood alcohol reading whilst at work.

c) Advise the employer of any hazardous or dangerous work practices.

d) A) and c)

	1027
	Employees and employers both have a role to play in creating a safe and injury free workplace
.

a) The occasional practical joke and mucking around is OK as long as no one gets hurt.

b) An employer does not need to rectify a dangerous situation until they are able to afford the cost of the work to be done.

c) The employer should implement a structured risk management plan to reduce the risk of workplace injury.

d) Workplace injuries, like car accidents are inevitable, the aim should be to reduce the cost of such injuries.

	1027
	Which of the following topics would you not expect to find on a hazard inspection list
?

a) Hygienic staff facilities maintained.

b) Fire procedures instigated.

c) Staff morale and pay levels.

d) Electrical equipment maintained

	BCS
	A PRODUCT DISCLOSURE STATEMENT should be provided
:

a)
To Retail clients if a recommendation is made in relation to a financial product

b)
Whenever a Consumer purchases a Policy

c)
a and b 

d)
At the first interview with the client

	BCS
	A warning that advice provided has not taken into account the client’s particular Circumstances is given
:

a)
Always in “Personal” advice

b)
Always in “General” advice

c)
When there has not been a Needs Analysis done

d)
b and c

	BCS
	An STATEMENT OF ADVICE should be issued to “Retail” clients
:

a)
Before a Financial Service is provided 

b)
No more than seven business days after any verbal advice is provided.

c)
When the Policy is issued

d)
b  and c

	BCS
	If a breach of the Compliance Procedures was identified in handling a complaint, a good practice would

a)
Advising APRA of the breach

b)
Advising the Insurer of the breach

c)
Advising the Compliance Officer of the breach and ensure it is documented in a Breaches Register 

d)
a and c

	BCS
	If a client makes a telephone enquiry which requires you to issue an FINANCIAL SERVICES GUIDE or STATEMENT OF ADVICE
:

a)
You can give them that information over the phone

b)
You can give them specified information over the phone and then send them the documents

c)
You need not issue any documents

d)
a and c

	BCS
	If it is likely that an Insurance Product will be provided to a “Retail” client
:

a)
An FINANCIAL SERVICES GUIDE should be provided at the first interview

b)
An FINANCIAL SERVICES GUIDE should be provided after any advice is given

c)
An FINANCIAL SERVICES GUIDE should be provided when the Policy is issued

d)
None of the above

	BCS
	One use of an “Engagement Contract” with a client would be
:

a)
To ensure that there is common agreement between Intermediary and the Insurers utilised

b)
To ensure that there is a written agreement between the AFS Licensee and their Authorised Representatives

c)
To ensure that there was no misunderstanding that interest on premiums paid to an Intermediary is for the Intermediaries benefit

d)
a and c

	BCS
	Quoting a price for a Financial Service is
: 

a)
“Advice” within the meaning of FSR 

b)
Not “Advice” within the meaning of FSR 

c)
“Dealing” within the meaning of FSR

d)
b and c

	BCS
	The best reason to properly and comprehensively maintain client files is
:

a)
That it makes the office neat and tidy

b)
The Insurer can see what was agreed 

c)
It will hopefully enable an Authorised Representative or AFS Licensee to defend themselves against a vexatious claim

d)
None of the above

	BCS
	The Consumer Credit Code
:

a)
Applies to all purchases of insurance in Australia

b)
Applies to the purchase of goods or services used mainly for personal, household or domestic purposes

c)
Is a recommended standard applicable for the purchase of goods only

d)
None of the above

	BCS
	The Interest on client funds paid to an Intermediary for insurance purposes
:

a)
Belongs to the Authorised Representative

b)
Belongs to the AFS Licensee

c)
Belongs to the Insurer

d)
Belongs to the client unless there is an agreement otherwise

	BCS
	The STATEMENT OF ADVICE must contain
:

a)
Details of the Policy cover

b)
Details of the Insurer

c)
Details of the Intermediary’s commissions 

d)
All the above

	BCS
	Which of the following are indications that a person is merely referring business to a licensee rather than acting on behalf of a licensee
?

a)
The Referral is only an incidental part of the Referrer’s business

b)
The Referrer does not collect any monies from the client associated with the Financial Service.

c)
The Referrer is unconnected with the AFS Licensee or Authorised Representative

d)
All of the above.

	BCS
	If a client has a complaint which has failed to be resolved by the Internal Complaints handing procedures, then
:

a)
They should be referred to the external disputes facility

b)
They should be referred to the Financial Ombudsman Service

c)
They should be referred directly to the Insurer

d)
None of the above

	BCS
	If an Intermediary gives an opinion in relation a Financial Service which is true but may have omitted some information
:

a)
It could be considered to be misleading under the Australian Competition and Consumer Act

b)
Only misstatements of fact can be considered misleading under the Australian Competition and Consumer Act

c)
The Intermediary must have an intention to be misleading when making the statement to be an offence under the Australian Competition and Consumer Act.

d)
The provisions of the CORPS ACT 2001 and not the Australian Competition and Consumer Act now cover false and misleading statements in relation to Financial Services.

	BCS
	In undertaking a “Needs Analysis
”

a)
The Intermediary needs to consider the objectives of the client

b)
The Intermediary may need to consider the financial situation of the client

c)
The client should provide accurate information on their needs to the Intermediary

d)
All the above

	BCS
	One of ASIC’s duties is to
:

a)
Ensure Insurers are solvent

b)
Ensure Insurers do not disclose information about Consumers without the Consumer’s consent

c)
Ensure Intermediaries provide information sufficient to enable consumers to make informed decisions about Financial products

d)
All the above

	BCS
	Under the Privacy Act
:

a)
You must not disclose any information that you have gathered from the client

b)
You can disclose information you have collected, if the person could reasonably expect that disclosure you collected it from.

c)
The client is allowed full access to Claim Files upon their application

d)
a and c

	BIND
	A broker
:

a)
Only acts for the insurer

b)
Only acts for the client

c)
Only acts for other brokers

d)
None of the above 

	BIND
	If a broker makes a recommendation then
:

a)
They must have a reasonable basis for that advice

b)
They are protected in law from any negligence

c)
They are entitled to a fee in respect of it

d)
b and c 

	BIND
	One of the roles of ASIC is to
:

a)
Ensure insurers are solvent and meet their liabilities

b)
Ensure clients receive consumer protection in regard to insurance matters

c)
Ensure that insurers comply with the privacy legislation

d)
b and c

	BIND
	The client is entitled to expect from the insurer
:

a)
Prompt issue of policy documents

b)
A complaints hearing mechanism

c)
Clear language in the policy

d)
All the above

	BIND
	The CORPS ACT 2001 commencement date is
:

a)
October 1, 2001

b)
December 1, 2001

c)
March 11, 2002

d)
March 11, 2004

	BIND
	The CORPS ACT 2001’s objectives include
:

a)
The requirements of getting an AFS license

b)
When an insurer may decline indemnity under a policy

c)
The solvency of insurers 

d)
a and c 

	BIND
	A broker:

Circle one of the following 
:

1 Can only act for the client 

2 None of these answers 

3 Can only acts for other brokers

4 Can only act for the insurer

	BIND
	APRA’s role is to
:

a)
Administer the FSR legislation

b)
Administer the solvency of insurers

c)
Administer the solvency of brokers

d)
b and c

	BIND
	If a broker makes a recommendation then:

Circle one of the following
:

1
None of these answers.

2
They are protected in law from any negligence.

3
They are not entitled to a fee in respect of it.

4
They must have a reasonable basis for that advice.

	BIND
	One of the roles of ASIC is to:

Circle one of the following
:

1 All answers are incorrect

2 Ensure clients receive consumer protection in regard to insurance matters.

3
Ensure that insurers comply with the Privacy Act 1988.

4
Ensure insurers are solvent and meet their liabilities.

	BIND
	Subrogation means
:

a)
The broker is the client’s legal servant

b)
The relationship between brokers

c)
The insurers’ right to premium from the broker

d)
The insurers’ right to recover money from the responsible party 

	BIND
	The “Proximate Cause” in a Policy is

a)
Always the cause of the loss

b)
The most directly related uninterrupted cause which causes the injury or damage 

c)
a and b

d)
None of the above

	BIND
	The client must have an “Insurable Interest
”:

a)
At the time they send in their proposal for insurance

b)
At the commencement of the insurance

c)
At the time of loss

d)
None of the above 

	BIND
	The duty of "Utmost Good Faith" means
:

Circle one of the following:

1
Clients must disclose facts which are material to the insurer in accepting the risk or setting the terms.

2
None of these answers.

3 Insurers must comply with the Australian Competition and Consumer Act

4 Intermediaries must comply with the Corporations Act

	BIND
	The Regulators of the General Insurance Market are
:

a)
The Australian Competition and Consumer Commission

b)
ASIC and APRA

c)
NIBA

d)
ICA

	BIND
	When obtaining information from a client
:

a)
You must have their informed consent

b)
The client always warrants it’s truth

c)
It must be stored safely 

d)
a and c  

	BP
	After issuing a Financial Services Guide (FSG) a supplementary FSG should be issued
:

a)
At each anniversary date of the policy

b)
When there is any adverse material change to the information provided in the FSG.

c)
If the Insured requests it

d)
a and c

	BP
	All Money received from a client by an Intermediary must
:

a)
Be placed in the Authorised Representative’s trust account

b)
Be placed in the AFS Licensee’s office account

c)
Be placed in the AFS Licensee’s trust account

d)
Be placed in the Insurer’s Trust account

	BP
	As an intermediary if you occasionally get a benefit lunch and entertainment from the Insurer
:

a)
You would not ordinarily need to disclose this in the STATEMENT OF ADVICE but it is needed to be disclosed in the FINANCIAL SERVICES GUIDE

b)
You would not ordinarily need to disclose this in the STATEMENT OF ADVICE or the FINANCIAL SERVICES GUIDE

c)
You need to disclose this in the FINANCIAL SERVICES GUIDE and the STATEMENT OF ADVICE

d)
The Insurer should disclose this in the PRODUCT DISCLOSURE STATEMENT 

	BP
	Confirmation of Transactions is
:

a)
Only required for “Retail” products

b)
Required for “Retail” and “Wholesale” products

c)
Required to be issued from 11 March 2002

d)
a and c 

	BP
	If a client exercises their right to cancel the policy in the “Cooling Off” period
:

a)
The Insurer must give them a full refund of their premium from inception if there are no claims

b)
The Insurer can give them a pro rata return of their premium from the date of notification to the Insurer

c)
Any claim they have in the Cooling Off Period needs to be repaid to the Insurer

d)
None of the above

	BP
	If a client makes a telephone enquiry which ordinarily would require you to issue them with an FINANCIAL SERVICES GUIDE or STATEMENT OF ADVICE
:

a)
You can give them that information over the phone

b) You can give them specified information over the phone and then send them the documents

c) You need not issue any documents

d) a and c

	BP
	If it is likely that an Insurance Product will be provided to a “Retail” client
:

a)
A FINANCIAL SERVICES GUIDE should be provided at the first interview

b)
A FINANCIAL SERVICES GUIDE should be provided after any advice is given

c)
A FINANCIAL SERVICES GUIDE should be provided when the policy is issued

d)
None of the above

	BP
	The PRODUCT DISCLOSURE STATEMENT (PDS) is usually issued by
:

a)
The Intermediary

b)
The Insurer

c)
The AFS Licensee

d)
a and c

	BP
	The prohibition on “Hawking” means 
:

a)
The Finance Employees Union is prohibited from barring the operation of FSR in respect of its employees

b)
Insurers are prohibited in using mediators in trying to avoid their obligations under the policy

c)
You cannot promote or sell Financial Services at any unsolicited meeting and must not make unsolicited contact with Clients at certain times.

d)
None of the above

	BP
	Under the CORPS ACT 2001 an “Retail Insurance Product” includes
:

a)
An ISR Policy

b)
A Liability Policy

c)
A Sickness and Accident Policy

d)
All the above

	BP
	If an Insurer returns a premium back to the Intermediary then
:

a)
The Intermediary must return it to the client within 90 days

b)
The Intermediary must return it to the client within 7 days

c)
The Intermediary must return it to the client by the next business day

d)
The Intermediary must return it to the client within 3
days

	BP
	If the Intermediary does not receive the premium from an Insured within 90 days after inception
:

a)
The Intermediary can sue the Insured

b)
The Intermediary must advise the Insurer within the 90 day period

c)
The Intermediary must advise the Insurer within 7 days 

d)
None of the above

	BP
	If the Intermediary receives a return premium from the Insurer then
:

a)
It is returned to the Insured within 90 days

b)
The AFS Licensee must pay it to the Insured within 7 days of their receipt or as soon as practicable thereafter

c)
The Authorised Representative must pay it to the Insured within 7 days of their receipt or as soon as practicable thereafter

d)
b and c

	BP
	The Duty of Disclosure arises
:

a)
Only on the commencement of the policy

b)
During the currency of the policy – “continuous disclosure”

c)
At the commencement and at each renewal or amendment of the policy

d)
When a claim occurs

	BP
	The ramifications of an Insured failing to disclose material facts may mean that
:

a)
The client may not get their claim paid

b)
The Insurer may be able to avoid the policy.

c)
The Insurer may reduce a claim under the policy 

d)
All the above

	BP
	When an Intermediary makes a recommendation that the Insured should buy a policy from a particular Insurer
:

a)
The Insured should be made aware of the principle of “buyer beware”

b)
The Insured should be aware of the basis upon which that recommendation is made

c)
There must be a sustainable basis for that recommendation

d)
b and c

	BRMA
	A “Retail” Client includes
:

a)
An individual 

b)
A manufacturing business which employs less than 100 people 

c)
A business which employs less than 20 people

d)
All the above

	BRMA
	An “Retail Insurance Product” includes
:

a) An ISR Policy

b) A Liability Policy

c) A Motor Policy

d) All the above

	BRMA
	An AFS Licensee must advise ASIC of any breaches of their AFS Licence within
:

a)
3 days

b)
7 days

c)
10 days

d)
none of the above

	BRMA
	An AFS Licensee must advise ASIC of appointments or terminations of Authorised Representatives within
:

a)
3 business days

b)
7 days

c)
10 days 

d)
none of the above

	BRMA
	If an AFS Licensee becomes aware of any matter which is likely to materially affect their financial viability
:

a)
they must advise their panel of Insurers immediately

b)
they must advise ASIC within 24 hours 

c)
they must advise APRA immediately

d)
None of the above

	BRMA
	If it is likely that an Insurance Product will be provided to a “Retail” Client
:

a) An FINANCIAL SERVICES GUIDE should be provided at the first interview

b) An FINANCIAL SERVICES GUIDE should be provided after any advice is given

c) An FINANCIAL SERVICES GUIDE should be provided when the policy is issued

d) None of the above

	BRMA
	If the Intermediary receives a return premium from the Insurer then
:

a) It is returned to the Insured within 90 days

b) The AFS Licensee must pay it to the Insured within 7 days of their receipt or as soon as practicable thereafter

c) The Authorised Representative must pay it to the Insured within 7 days of their receipt or as soon as practicable thereafter

d) b and c

	BRMA
	One of ASIC’s duties is to
:

a)
Ensure Insurers are solvent

b) Ensure Insurers do not disclose information about Consumers without the Consumer’s consent

c)
Ensure Intermediaries provide information sufficient to enable consumers to make informed decisions about Financial Products

d
All the above

	BRMA
	One of the prerequisites to obtain an AFS Licence is that
:

a)
the Intermediary is a fit and proper person 

b)
the Intermediary has the support of an authorised panel of Insurers

c)
the Intermediary will comply their obligations honestly, efficiently and fairly

d)
a and c

	BRMA
	Risk Management policies should take into consideration
: 

a) the client’s appetite for risk

b) risk tolerance and capital at risk 

c) the risk management facilities offered by Insurers

d) none of the above

	BRMA
	To achieve a high standard of Risk Management it is important to
:

a) identify risks and understand them

b) know about the economy and act preemptively

c) ensure clients have their risk management needs met

d) b and c

	BRMA
	To provide Financial Services to Retail Clients for Accident and Sickness insurance
:

a)
Tier 1 education is required

b)
Tier 2 education is required

c)
Tier 3 education is required

d)
None of the above

	BRMA
	Total Risk Profiling refers to
:

a) a risk evaluation technique

b) client risk assessment

c) insurer risk assessment

d) b and c

	BRMA
	When we talk of “credit risk” in Risk Management we are referring to
:

a) credit risk insurance

b) credit risk from suppliers

c) credit risk from clients and investing

d) all the above

	BRMA
	You must always have an AFS Licence or be an Authorised Representative of an AFS Licensee when
:

a)
You provide advice about Financial Services to Retail Clients

b)
You deal in Financial Services with Retail Clients

c)
a) and b) 

d)
You are an Insurer

	BRMA
	If an Insurer returns premium back to the Intermediary then
:

a) The Intermediary must return it to the Client within 90 days

b) The Intermediary must return it to the Client within 7 days

c) The Intermediary must return it to the Client by the next business day

d) The Intermediary must return it to the Client within 3 days

	BRMA
	If the Intermediary does not receive the premium from an Insured within 90 days after inception
:

a) The Intermediary can sue the Insured

b) The Intermediary must advise the Insurer within the 90 day period

c) The Intermediary must advise the Insurer within 7 days 

d) None of the above

	BRMA
	Under the Privacy Act
 1988:

a)
You must not disclose any information that you have gathered from the Client

b) You can disclose information you have collected if that disclosure could be reasonably expected

c) The Client is allowed access to Claim Files upon their application

d) a and c

	BRMA
	When an Intermediary makes a recommendation that the Insured should buy a policy from a particular Insurer
:

a) The Insured should be made aware of the principle of “buyer beware”

b) The Insured should be aware of the basis upon which that recommendation is made

c) There must be a sustainable basis for that recommendation

d) b and c

	CM
	In every claim the following must be considered
:

a)
What is the amount of the claim

b)
How much premium the insured has paid

c)
Whether the insured has a liability to someone else

d)
All of the above

	CM
	When a registered insured receives a claim settlement
:

a)
This will be subject to GST

b)
This will not be subject to GST

c)
It is input taxed

d)
It will depend on the GST status of the insured and the nature of documentation provided to support the payment.

	CM
	When paying an excess by an insured to an insurer
:

a)
This is not subject to GST

b)
This is subject to GST

c)
It is input taxed

d)
None of the above

	CM
	“Disclosure” in the context of a client in an insurance policy means
:

a)
that the client should disclose only those things he thinks are relevant

b) that the insurer should ask questions and satisfy themselves of the client’s disclosure

c) that the client should disclosure everything that they know or could reasonably be expected to know that is relevant to the insurer’s decision to accept the risk

d) All the above

	CM
	A “claims made” policy covers
:

a)
claims which only occur during the policy term

b)
claims which can occur anytime but are first advised to the client during policy term

c)
a and b

d)
None of the above

	CM
	An average/co-insurance clause is
:

a) a clause which relates to the client needing to insure for the full value of the property insured

b) a clause which relates to the client’s excess

c) a clause which only relates to Co-Insurance policies

d) none of the above

	CM
	An intermediary who learns that a client who is going to enter into a “Hold Harmless” agreement
:

a)
Does not need to advise the insurer as the Agreement is harmless

b)
Needs to advise the insured of the possible implications this may have on their insurance coverage.

c)
Advises the client that this is something that need not concern them

d)
None of the above

	CM
	If a client wanted to see a claim file
:

a)
You can always legally refuse to give them access

b) You must always give them access

c) You must let them see any personal information collected provided the information is not covered by “legal privilege”.

d) None of the above

	CM
	In a liability policy, an insured can be held liable to another by
:

a)
Acts of Parliament

b)
Past court cases

c)
A contract with another party

d)
All the above

	CM
	In the event of a claim, what should the insured not do
:

a)
Prevent any further loss if they can

b)
advise the insurer or the intermediary ASAP

c)
admit liability so the claim can proceed quickly 

d)
a and b

	CM


	The objective of the Privacy Act 1988 is to
:

a)
Ensure the government knows everything about an individual

b)
Ensure individuals know everything about each other

c)
Protect government information

d)
Ensure businesses use information collected from clients appropriately.

	CM
	The onus of proving a claim under a policy is on
:

a)
The insurer

b)
The insured

c)
a and b

d)
The Broker

	CM
	Under Section 21 of the Insurance Contracts Act “Disclosure” is relevant
:

a)
At the start of a new policy

b)
Before the endorsement or renewal of a policy

c)
“continuously” throughout the policy term

d)
a and b

	CM
	Under Section 28 of the Insurance Contracts Act a failure to “disclose” means
:

a)
The insurer may avoid the contract if the non-disclosure was fraudulent.

b)
The insurer may reduce their liability under the policy where the non-disclosure was not fraudulent.

c)
The insurer can only exclude that part of the cover relating to the non-disclosure

d)
a and b

	CM
	Whether a claim is indemnifiable under a policy depends on
:

a)
The terms of the insurance policy and the intent of the parties

b)
If the claim has come about through a proximate cause which is covered by the policy

c)
If the insured has an insurable interest at the time of the loss

d)
All the above

	CORPS 
	CORPS ACT 2001 stands for the Corps Act 2001




T
F

One of the objectives of the CORPS ACT 2001 is to increase the income and profits of both consumers and businesses.








T
F

The CORPS ACT 2001 applies a uniform approach to the control and licensing of all players in the Financial Services marketplace.






T
F

The administration of the CORPS ACT 2001 is the responsibility of both APRA and ASIC
T
F

	CORPS 
	Premium Funding or Claims Management businesses are covered by the CORPS ACT 2001
T
F

Providing consumers with more timely and clear information at the time of making a purchase of a Financial Service is a key part of the CORPS ACT 2001.



T
F

ASIC are able to issue and revoke the CORPS ACT 2001 licenses of insurance brokers
T
F

The CORPS ACT 2001 replaces the Insurance Contracts Act




T
F

	CORPS
	ASIC issues Regulatory Guides that provide guidance to businesses in meeting their obligations under the CORPS ACT 2001
.






T
F

The CORPS ACT 2001 applies as from March 2004 or when a business gets a License, whichever is the later.










T
F

Under the CORPS ACT 2001 most part-time insurance agents will probably become Authorised Representatives or Spotters/Referrers





T
F

Under the CORPS ACT 2001 Wholesale clients are defined as businesses that do not deal with Retail Clients.









T
F

	CORPS 
	Wholesale clients do not receive the same level of protection as Retail Clients under the CORPS ACT 2001
.









T
F

A business can be a Retail Client but an individual is never a Wholesale Client.
T
F

Under the CORPS ACT 2001 there are two types of advice; General and Specific

T
F

If you give General Advice you must warn clients that the advice you are giving may not be suitable for their needs.







T
F

	CORPS 
	A Statement of Advice must include clear information about the commission and other remuneration received by the Licensee for selling the product
.

T
F

A Financial Services Guide does not need to be provided to Wholesale Clients
T
F

A Product Disclosure Statement must be provided to a Retail Client

T
F

Personal Advice occurs when you provide advice to a Retail Client after taking into account their needs, situation or circumstances.





T
F

	CORPS 
	The CORPS ACT 2001 will require Licensees to put into place more formal systems and procedures than were probably in place before

.





T
F

Under the CORPS ACT 2001 the requirements for people running insurance brokerages have not changed.









T
F

The name of the people responsible for running a business under the CORPS ACT 2001 are called Prudential Managers.








T
F

Once a staff member has reached ASIC’s required training level they are not required to do further training for two years.







T
F

	CORPS 
	The person with Training Officer responsibilities is on our Organisation Chart
T
F

We need to have an up to date Training Plan and Training records for all staff providing Financial Services.








T
F

If we have Virus Protection on our computer system we are fully protected from any viruses that may arrive via email or internet file downloads.




T
F

Things like Position Descriptions, Appraisals, Induction Checklists are all part of effective staff management practices.







T
F

	CORPS 
	As long as we do the right thing most of the time we should not have any problems with ASIC and the CORPS ACT 2001








T
F

When you see things not being done the way that you know they should it is best to turn a blind eye to the problem.







T
F

The Compliance Officer is there to try and catch you out



T
F

There is little or no chance of us getting an audit by ASIC.



T
F

	FS102F
	Statute law will override case law
:

With the leave of the court

B) Only where the statute contains a specific provision allowing this

C) In all cases, and with no exceptions

D) To the extent that there is a conflict but only to the extent of the conflict.

	FS102F
	The concept of “Utmost Good Faith” applies
:

A) In respect of all matters arising under or in relation to the contract.

B) Only in respect to matters arising under the contract

C) Only in respect to pre contractual matters

D) To pre contractual and renewal matters

	FS102F
	Under the Insurance Contracts Act an insured’s disclosure will not be regarded as misrepresentation if
:

A) a question on the proposal is ambiguous

B) an insured believed the statement was true, even if it was not

C) an insured failed to answer a question

D) All of the above

	FS102F
	Under the Insurance Contracts Act, utmost good faith must be observed by
:

A) The insured and insurer as parties to the contract

B) The insured, broker and insurer as parties to the contract

C) The insured, broker, interested parties and insurer

D) The insured, broker, interested parties, all persons to whom the policy extends cover to and the insurer.

	FS102F
	The Contracts Act provides that insurers
:

A) cannot unilaterally vary contracts of insurance mid term, and there are no exceptions to this rule.

B) Can unilaterally vary contracts of insurance mid term, provided the insured is notified in writing of the variation within 14 days.

C) As a general rule, cannot vary contracts of insurance mid term to the detriment of the insured, but there are some exceptions to this rule.

D) In cases where fraud is established, can vary contracts of insurance mid term to the detriment of the insured with the court’s approval.

	FS102F
	The doctrine of precedent is an important part of the common law system.  Which of the following more accurately expresses the meaning of the doctrine
:

A) previous decisions of courts are available to judges to use as guidelines for arriving at decisions in current cases

B) previous decisions of past cases may be used to help decide current cases but are not binding on the court

C) judges must always give precedent in their decision making to relevant acts of parliament 

D) judges do not have to take account of prior decisions where parliament has subsequently enacted legislation

	FS102F
	The Contracts Act has changed the common law notion of insurable interest. The Act now provides that a claim be payable
:

A) in cases where a claimant demonstrates that at time of loss he/she had a legal or equitable interest

B) in cases where the claimant demonstrates that at time of loss he/she had both a legal or equitable interest and a pecuniary or economic interest

C) in cases where a claimant demonstrates that at time of loss he/she had a pecuniary or economic interest, regardless of whether this interest was a legal or equitable interest

D) as C, plus the claimant must be named in the policy as an interested party

	FS102F
	Under the duty of disclosure an applicant seeking insurance under any of the prescribed contracts is required to answer all questions
:

A) regardless of how these questions are expressed

B) provided they are expressed generally, but may refuse to answer ambiguous questions

C) provided they are specific, but may refuse to answer generalised questions

D) A and B

	FS102F
	Which of the following best describes what is meant by “prescribed contract” under the Contract Act
?

A) any one of six types of personal insurance, under which the act prescribes a standard form of cover

B) any one of seven types of personal insurance under which the act prescribes a standard form of cover

C) any one of six types of retail client insurance, under which the act prescribes a standard form of cover

D) any one of nine types of retail client insurance under which the act prescribes a standard form of cover

	FS102F
	Under Section 54 of the Contracts Act an insurer may not refuse to pay claims in certain circumstances. Which of the following is one such circumstance
?

A) an insured failed to observe a policy condition but this did not cause the loss

B) an insured failed to observe a policy condition an whilst this failure caused the loss it did not prejudice the insurer

C) an insured failed to observe a policy condition but promptly notified the insurer and received written conformation and notification

D) an insured failed to observe a policy condition but the failure only partly contributed to the loss 

	FS102F
	The Contracts Act applies to
:

A) General insurance only

B) Life and General insurance only

C) Life insurance only

D) Life and General insurance, with a few classes excluded

	FS102F
	The Contracts Act requires an insurer to give notice within a specialised time frame that a policy is due to expiring. Where an insurer fails to provide this notice to a broker
:

A) an insurer can remedy the mistake by promptly giving 14 days notice to the broker

B) an insurer cannot remedy the mistake and must renew the policy

C) the policy is automatically renewed and no premium can ever be charged by the insurer

D) the policy is renewed for no premium but can then be cancelled by the insurer

	FS102F
	An insurer’s policy contains provision excluding liability claims arising out of pre-existing defect or imperfection. The insurer may rely on this provision
:

A) where the customer was aware of the defect at time of taking out insurance

B) where the customer was clearly informed in writing of the nature and effect of the provision

C) where the customer did not know of the defect when arranging insurance

D) none of the above

	FS102F
	Paul has not paid for his insurance. His insurer can
:

A) cancel his policy from inception

B) withhold any claims which may become payable until the premium is paid

C) exercise cancellation rights and give notice of cancellation in accordance with the act

D) advise Paul that any claim which may arise will be reduced by the unpaid premium, but the insurer cannot cancel the policy

	FS102F
	Where the relative of the insured has caused damage to the insured’s property the insurer is entitled to subrogate
:

1. where the negligent third party has insurance for his or her liability

2. where the third party’s actions were serious or willful misconduct

3. where the insured intends to take action against the relative

A) 1 and 2

B) 2 and 3

C) 1,2 and 3

D) 1 alone

	FS102F
	Sandi has transacted her insurance through a broker. Which of the following most accurately  represents the insurer’s responsibility for giving Sandi the various notices required by the Contracts Act
:

A)
the insurer is responsible for giving the various notices to be insured

B) the insurer is only required to give notices to the insured when the policy is being
entered into.  On renewal the broker is responsible for giving notices

C)
the broker and the insurer share responsibility for giving notices to the insured

D)
the broker is responsible for giving all notice to the insured

	FS102F
	Which statutory authority is responsible for regulating the insurance industry under consumer protection legislation
.

A) ACCC

B) APRA

C) ASIC

D) All of the above

	FS102F
	Which of the following is the clearest example of third line forcing
?

A) a finance company insist on a broker taking out property insurance through a nominated insurer

B) an insurer refuse to write liability insurance unless it is also given the client’s property insurance business

C) an insurer will only write contents insurance if it also has the building insured

D) a motor insurer insists that cars be repaired in its repair shop

	FS102F
	In order to provide advice to a client the FSR legislation requires that the advisor
:

A) has an AFS license

B) be Tier 1 or 2 compliant

C) be an authorised representative or employee of an AFS licensee

D) A,B or C

	FS102F
	The general insurance broker’s code of practice applies to
:

A) prescribed contracts only

B) prescribed contracts plus personal and domestic property insurance

C) prescribed contracts, personal and domestic property insurance, and small business insurance

D) C, plus any other class of business a broker wishes to voluntarily add

	FS102F
	Decisions under the broker’s disputes facility are binding on
:

A) brokers and their agents

B) brokers, insurers and insured’s

C) brokers and insurers only

D) brokers only

	FS102F
	Where an insurer has refused to invite renewal of a policy the general insurance code of practice provides that the insured
:

A) does not need to disclose this refusal to the next insurer

B) must disclose the refusal if the next insurer’s proposal form asks for this information

C) must disclose the refusal because the contracts act duty of disclosure requires it

D) does not need to disclose this refusal in cases where the refusal did not relate to considerations of assessment of risk

	FS102F
	Under occupation health and safety legislation
:

A) Employees have limited responsibilities. The main thrust of the legislation is focused
on employers

B) Employees and employers have equal responsibility for workplace safety

C) Employees have separate responsibilities under the legislation and must co-operate with employers regarding workplace safety

D) Employees have no responsibility for workplace safety. The legislation holds employers solely responsible for the workplaces

	FS102S
	A legal contract has been defined as an agreement

A) Whereby a legal obligation is constituted and defined between the parties to it

B) In which offer, acceptance and indemnity are present

C) Under which an insurer agrees to indemnify an insured but does not require any premiums to be paid

D) Made between two or more parties, for example, a gentleman's agreement

	FS102S
	If an insurer accepts a proposal with an unanswered question, the Insurance Contracts Act deems the insurer to have

A) Waived the right to the answer to the question

B) Relied on the proponent's utmost good faith

C) Accepted the question as having been answered in the negative

D) Known the answer as a matter of common knowledge

	FS102S
	Which Act was introduced for the purpose of regulating the practices of insurance intermediaries with a view to strengthening the financial stability of the insurance industry overall
?

A) Insurance Act 1973

B) Life Insurance Act 1945

C) Insurance Contracts Act 1984

D) Insurance (Agents and Brokers) Act 1984

	FS102S
	How is an insurance broker remunerated for his/her services
?

A) Only by service fees paid by his/her clients

B) Solely by brokerage paid to him/her by an insurer for business introduced

C) A combination of service fees paid by his/her clients and brokerage received from insurers on business introduced to them

D) Solely from fees paid to him/her for claims settlements that he/she arranges

	FS102S
	Section 28 of the Insurance Contracts Act deals with remedies for misrepresentation and non-disclosure by a prospective insured before entering into the contract. If the insurer would have entered into the contract at the same premium and terms had he known the true position then
:

A) The insurer may avoid the contract

B) The original contract would be superseded by a new one

C) The contract will stand and no remedy exists for the insurer

D) The insurer may vary the original contract to comply with the changed circumstances

	FS102S
	An insurer is entitled to pursue subrogation rights following settlement of a claim under a household policy where a third party is responsible for the damage, except where
:

The insurer decides against engaging the services of an independent loss adjuster to assess the amount of the loss

Contribution to the loss by two or more insurers exists.

The claim is paid on an ex-gratia basis

Under-insurance exists

	FS102S
	Which of the following is/are not "Prescribed Contracts" under the lnsurance Contracts Act
:

Motor vehicle insurance

Sickness and accident insurance

Fire insurance

Home building and contents insurance

	FS102S
	The Insurance Contracts Act (1984) Regulations declare that the "minimum amount" payable in respect of a claim for damages to ones own property will, under a prescribed contract, be the amount

A. Sufficient to provide indemnity for the person who made the claim

B. Representing the replacement value of the property insured

C. Mentioned in the policy as the sum insured for the property

D. Representing the current market value of the property

	FS102S
	The Insurance Contracts Act (1984) prescribes the minimum cover to be provided by certain classes of insurance. Which of the following classes of business does not fall into this category
?

A) Motor vehicle

B) Home building and contents

C) Personal accident and sickness

D) Pleasure craft

	FS102S
	Which of the following persons has no insurable interest in the insured property of a business
?

A) The liquidator of a company.

B) A partner in the business

C) A valued customer

D) A shareholder of the company

	FS102S
	The Insurance Contracts Act (1984) restricts an insurer's common law rights of subrogation against third parties where the policy is one of general insurance. The insurer's subrogation rights are unaltered when the third party is

A) An employee of the insured

B) A member of the insured's family

C) An insured friend using the insured's vehicle with his consent

D) An uninsured third party using the insured's vehicle with his consent

	FS102S
	Most, but not all, insurance policies are contracts of indemnity. Which of the following policies is not a contract of indemnity
?

A) Fire

B) Houseowners

C) Personal accident

D) Engineering

	FS102S
	Which of the following does the law require for a contract to exist
?

1. Offer

2. Acceptance

3. Consideration

4. Performance

A) 1 and 2 only

B) 2 and 3 only

C) 1, 2 and 3 only

D) All of 1, 2, 3 and 4

	FS102S
	The Insurance Contracts Act (1984) permits contribution between insurers where
:

A) Two or more insurers issue policies by which the insured could be indemnified

B) The insured has insured his asset for less than its true value

C) The insured's error was the cause of the loss

D) One insurer issues a liability policy, and the insured was the cause of the loss

	FS102S
	Which of the following is correct? Section 5 (2) of the Code of Practice requires that loss adjusters acting on behalf of insurers

A) Operate in a professional manner

B) Inform consumers of their status and the identity of the insurer for whom they are acting

C) Comply with the Code of Practice

D) All of A, B and C

	FS102S
	Which of the following best defines a "contract'
?

A) A legally binding agreement which gives rise to rights protected by law and obligations enforceable by law
B) An agreement which gives rights to universally enforceable obligations and liabilities
C) A promise, given for consideration, enforced by the parties to it in the event of a breach
D) Obligations of the principal party which are in writing and are enforceable by that party 

	FS102S
	The Insurance Contracts Act (1984) imposes a duty on which of the following to act in the utmost good faith
?

A) The insured only

B) The insurer only

C) Both the insured and the insurer

	FS102S
	Which of the following deals with the duties of the insured and the rights of the insurer
?

A) Subrogation clause

B) Policy conditions
C) Statutory declarations
D) None of the above

	FS102S
	According to the Code of Practice, within how many days of receipt of a claim form should an insurer respond to the claim
?

A) 7 days

B) 14 days
C) 15 days
D) 21 days

	FS102S
	Which of the following best describes the role of an insurance broker? The broker acts on behalf of
:

A) An insurer in accepting insurance.

B) The shareholders of a company to purchase shares in public companies listed on the stock exchange.
C) An insurer to buy shares in a publicly listed company
D) An insured to place insurance

	FS102S
	Which of the following documents normally includes the duty of disclosure notice
?

A) Renewal notice

B) Cover note
C) Proposal
D) All of A, B, and C 

	FS102S
	A person is held to have an insurable interest in the property insured if it can be proved that the person
:

A) Took out the policy

B) Paid the premium under the policy
C) Suffered a pecuniary or economic loss
D) Benefited by the destruction of the property

	FS102S
	The Insurance Contracts Act 1984 will not apply to which of the following
?

A) A marine policy where the goods travel by sea

B) A motor policy issued in a business name
C) A policy arranged by an insurance broker
D) A policy insuring a private dwelling

	FS102S
	The Insurance Contracts Act 1984 affects contracts entered into after what date
?

A) 1 January 1984

B) 30 June 1984
C) 1 January 1985
D) 1 January 1986

	GICP
	The General Insurance Code of Practice includes various objectives.

Circle T for True or F for False by each statement below
.

The Code requires insurers to have fair procedures for the resolution of disputes.  
T F

The Code applies to all policies issued by an insurer.




T F
The Code describes standards of good practice and service.



T F
The Code applies to insurers, their agents and insurance brokers (only when acting as an agent of the insurer).









T F

	GICP
	The General Insurance Code of Practice requires insurers to have in place various systems and procedures relating to Agents and Employees.

Circle T for True or F for False by each statement below
.

Insurers require agents to have the necessary skill & advise the client they are acting as the agent for the insurer.









T F

Insurers require agents to have training in products, Code requirements and what to do in the event of a claim.









T F

Insurers must have a signed agreement with all agents and brokers (when operating as agent) with whom they deal.








T F

B. Insurers will keep records of agent training for 5 years.




T F

	GICP
	The General Insurance Code of Practice sets out requirements that effected insurers must comply with in relation to Dispute Facilities.

Circle T for True or F for False by each statement below
.

The insurers must have a free Internal Dispute facility; however it does not have to be documented.










T F

The insurer must have brochures outlining procedures for handling disputes, timeframes and who will handle them.









T F

The insurer must participate in the General Insurance Enquiries and Complaints Scheme.











T F

The insurer must respond promptly to a request for dispute resolution or the claim will be automatically accepted.








T F

	GICP
	The General Insurance Code of Practice sets out standards of behavior etc for investigators, assessors etc.

Circle T for True or F for False by each statement below
.

The insurer must approve investigators and assessors and have the skills to perform the task engaged for.










T F

Assessors that do work for brokers cannot also perform work for insurers.


T F

Such people should be professional, identify themselves and the insurer and & comply with the law and the Code.









T F

Investigators must have current licenses under relevant state legislation.  


T F

	GICP
	The General Insurance Code of Practice sets various requirements for insurers in the handling of claims.

Circle T for True or F for False by each statement below
.

Insurers shall make claim forms available in plain language, free of charge and respond promptly to reasonable requests.







T F

Insurers shall advise of internal and external dispute facilities if a dispute remains unresolved.










T F

Insurers do not have to advise clients of why claims are being rejected.


T F

In normal circumstances Insurers should respond to new claim within 45 business days of receipt.










T F

	GICP
	The General Insurance Code of Practice was set up as part of the requirements of the Insurance Act 1973.

Circle T for True or F for False by each statement below
.

Authorised Insurers writing home and private motor business do not have to adopt the Code 











T F

Insurers who subscribe to the Code must participate in the General Insurance and Enquiries Complaints Scheme.









T F

Insurance Enquiries and Complaints Limited are responsible for the administration of the Code.











T F

The Code must be approved by ASIC (Australian Securities and Investments Commission)  











T F

	GICP
	The General Insurance Code of Practice specifies the approach that insurers should adopt in their documentation.

Circle T for True or F for False by each statement below
.

Insurers must advise consumers where a cover declinature is not related to the assessment of the particular risk.









T F

Insurers should make policy wordings available, advise consumers of the Code and their Duty of Disclosure.









T F

Insurers should explain any policy changes in plain language.



T F

Insurers should express policy documentation in plain English and design documentation to enhance comprehension.








T F

	GICP
	The General Insurance Code of Practice spells out the general responsibilities of a broker acting as an agent of the insured.

Circle T for True or F for False by each statement below
.

The broker has to avoid conflicts of interest, disclose fees/commissions where required.
T F

The broker should act with honesty & integrity, exercise care, and act in the best interests of their principal.










T F

The broker and staff need to be aware of all relevant industry Codes of Practice.

T F

The broker should ensure that they receive a fair and reasonable income from each client that they deal with.









T F

	IBCP
	How is the Insurance Brokers' Code of Practice put to work in your business?

Circle T for True or F for False by each statement below
.

The Code only becomes relevant when a complaint is received.




T F
The Code does not apply to what I do in the business.






T F
I have been involved in discussions on the Code and its impact on our business.



T F

We have a copy of the Code in our office and I know where it is.




T F

	IBCP
	If a broker has allegedly breached the Insurance Brokers' Code of Practice:

Circle T for True or F for False by each statement below
.

The complainant must report the matter to AFCA within 21 days of the complaint occurring.

T F

AFCA can refer the breach to ASIC








T F

AFCA can impose monetary penalties on the broker if they are guilty of breaching the Code.

T F

The matter is referred to ASIC to conciliate.







T F

	IBCP
	Part of the Insurance Brokers' Code of Practice refers to Internal Dispute Resolution Processes.

Circle T for True or F for False by each statement below
.

Processes need not be in writing as long as everyone understands them.



T F

Some brokers will never have a complaint and need only introduce a process when one is received.
T F

Brokers can charge a reasonable fee for handling any complaints received.



T F

Clients to be informed about AFCA if the broker is unable to resolve their complaint.


T F

	IBCP
	The Insurance Broker's Code of Practice has various objectives.

Circle T for True or F for False by each statement below
.

The Code guarantees insured's are fully protected if they use a broker.




T F

The Code provides for consumer involvement in dispute resolution.




T F

The Code promotes the efficiency and effectiveness of a broker’s service to insured's and insurers.

T F

The Code describes standards of practice.







T F

	IBCP
	The Insurance Brokers Code of Practice sets out various responsibilities for an insurance broker acting as an agent of the insured in relation to policy arrangements

Circle T for True or F for False by each statement below
.

Ensure all paperwork is forwarded to the insurer within 5 working days of receipt.



T F

Disclose fees only when requested by the insured.






T F

Take reasonable steps to provide policy wordings and to chase insurers for documentation.

T F

Promptly advise the insured if policy coverage is declined, cancelled or lapsed.



T F

	IBCP
	The Insurance Broker's Code of Practice spells out the responsibilities of an insurance broker acting as an agent of the insurer

Circle T for True or F for False by each statement below
.

The Code does not apply in circumstances where the broker is acting on behalf of the insurer.

T F

Advise the client, only when asked, that they are acting on behalf of the insurer.



T F

Comply with the General Insurance Code of Practice.






T F
C. Act in the best interests of the insurer and not for the client.





T F

	IBCP
	The Insurance Brokers Code of Practice has a number of objectives.

Circle T for True or F for False by each statement below
.

Describe standards of good practice and service






T F
Promote relationships between the relevant parties & efficiency of insurance intermediaries.

T F

Promote an effective dispute resolution process including client involvement.



T F

Replace the Corporations Act which has become too cumbersome to manage.



T F

	IBCP
	The Insurance Brokers Code of Practice applies to:

Circle T for True or F for False by each statement below
.

Insurance brokers but not underwriting agencies






T F

General and Life insurance services








T F
Risk management, claims handling and premium funding





T F

All Licensees that are members of AFCA







T F

	IBCP
	Which of the following statements on the impact of the Insurance Brokers' Code of Practice to the way you do business is true.

Circle T for True or F for False by each statement below
.

The Code is for guidance only.  You need to work out for yourself what the best thing to do is.

T F

The Code is designed to make it more difficult to get the job done.




T F

The Code only applies to personal customers, like home and private motor clients.


T F

The Code no longer applies as it has been replaced by The Corporations Act



T F

	IBCP
	Which of the following statements regarding The Insurance Broker's Code of Practice are True?

Circle T for True or F for False by each statement below
.

The Code protects the clients of a Broker and any Third Party involved in a claim.



T F

Members must disclose fees prior to providing the service.





T F

The Code only applies to NIBA members.







T F
The Code is part of an industry self-regulatory scheme that includes AFCA.



T F

	IBCP
	Which of the following statements regarding the obligations of a member under the Insurance Brokers Code Of Practice are true?

Circle T for True or F for False by each statement below
.

Prior to policy issue, disclose that commission/fees will/may not pro-rata refunded on cancellation.

T F
Make copies of the Code available to insureds.






T F

The Code must be clearly displayed within the public area of the workplace.



T F

Requires written client advice and sign off when using a foreign unauthorised insurer.


T F

	IBCP
	Which of the following statements regarding The Insurance Broker's Code of Practice are True?

Circle T for True or F for False by each statement below
.

The Code sets specific dates for the supply of policy documentation




T F

The code requires members to provide appropriate advice





T F

The Code sets specific dates for claims support activities





T F
The code requires staff to have appropriate training for tasks undertaken for client.


T F

	IBCP
	The Insurance Brokers Code of Practice sets out minimum standards for customer dispute processes.

Circle T for True or F for False by each statement below
.

When a dispute arises only ask for relevant information to the dispute.




T F

It is up to the client to initiate any corrective action required





T F

Provide client with information relied upon by us.






T F
Dispute processes can be complicated and there is no time limits imposed.



T F

	AFCA
	The Australian Financial Complaints Authority (AFCA)  is designed to help consumers resolve disputes quickly without the need for costly litigation.

Circle T for True or F for False by each statement below
.

AFCA disputes are firstly conciliated, if this fails the matter is put to a referee for decision.


T F

Consumers must pay a minimal $500.00 fee to lodge a dispute with AFCA.



T F

If the matter is not conciliated within 20 days of receipt at AFCA it is generally referred to the referee.
T F

AFCA can order a broker do various things apart from paying money to rectify issues  in a dispute.

T F

	AFCA
	The Insurance Brokers division of the Australian Financial Complaints Authority (AFCA)  is designed to resolve disputes between insurance intermediaries and their clients.

Circle T for True or F for False by each statement below
.

AFCA applies to disputes arising out of all types of Contracts that insurance brokers are involved in.
T F

AFCA only handles disputes up to $100,000, except where the broker waives this limit.


T F

The broker is bound by AFCA decisions, however clients are not.




T F

Clients should go direct to AFCA with their problem rather than messing around with the broker.

T F

	AFCA
	The Australian Financial Complaints Authority (AFCA)  requires insurance brokers to have various systems and procedures in place as part of their membership of AFCA.

Circle T for True or F for False by each statement below
.

A broker must have a dispute system and make information on AFCA accessible to consumers.

T F

A broker must have a Complaints Officer with the power to deal with disputes.



T F

A broker must submit an annual return to AFCA of all formal complaints received by the broker.

T F

AFCA relieves the broker of any responsibility to give consumers accurate and timely advice.

T F

	ICA
	Section 56 of the Insurance Contracts Act contains provisions to control what insurers can do where insured’s lodge fraudulent claims.

Circle T for True or F for False by each statement below
.

If a minimal part of the claim is fraudulent the insurer might have to pay the rest of the claim if it would be unfair not to.








T F

Where a fraudulent claim is lodged the insurer can refuse to pay the claim and avoid the policy.











T F

Where a fraudulent claim is lodged the insurer must refer the matter to Insurance Enquiries & Complaints for review.








T F

	ICA
	Section 58 of the Insurance Contracts Act stipulates how insurers must communicate matters such as renewals, cancellations etc.

Circle T for True or F for False by each statement below
.

If an insurer fails to give renewal terms 14 days before expiry, cover continues for free until it is cancelled, replaced or it runs to its next expiry.





T F

The insurer is required to advise the insured at least 14 days prior to expiry if they are going to offer to renew.









T F

If an insurer fails to give renewal terms 14 days before expiry, the insured can renew at last year’s rates.










T F

	ICA
	Section 59 of the Insurance Contracts Act controls how insurers are able to exercise their right to cancel insurance policies.

Circle T for True or F for False by each statement below
.

In the case of cancellation due to lack of renewal advice, 14-business days notice is required.










T F

In most cases the insurer must give a minimum of 3 business days notice.


T F
D. The insurer does not have to give the notice in writing.




T F

	ICA
	Section 60 of the Insurance Contracts Act provides a list of circumstances where insurers have the right to cancel an insurance contract.

Circle T for True or F for False by each statement below
.

Insurers may cancel where the insured has failed to comply with the Duty of Disclosure.  T F

Insurers may cancel where the insured has failed to comply with the Duty of Utmost Good Faith.











T F

Insurer may cancel where they identify the insured has lodged a fraudulent claim with another insurer.









T F

	ICA
	Sections 65 – 68 of the Insurance Contracts Act impose various conditions and restrictions on Insurers when imposing or applying for subrogation following payment of a loss under an insurance contract.  In which of the following circumstances might an insurer be unable to recover a loss.

Circle T for True or F for False by each statement below
.

From a criminal who has already served time for the property damage involved.

T F

From an employee of the insured's.







T F
From a personal friend of the insured's where the friend is not insured for Liability for the loss involved.










T F

From a family member of the insured's where the family member actions were not serious or willful misconduct.









T F

	ICA
	The Insurance Contracts Act contains some specific provisions for Claims made policies such as Professional Indemnity.

Circle T for True or F for False by each statement below
.

Insurers are required to advise the insured that these policies are automatically not renewable contracts.  









T F

Insurers are required to advise the insured of the effect of the claims made provisions prior to entering the contract.









T F

Insurers are required to advise the insured that these contracts should be used rather than occurrence policies.  









T F

Insurers are limited to the types of covers that Claims Made wordings can be applied to.  T F

	ICA
	E. The Insurance Contracts Act contains the important issue of Duty of Disclosure.  Which of the following statements regarding the Insured's Duty of Disclosure to an insurer are correct?

Circle T for True or F for False by each statement below
.

The insured has a duty to disclose information before entering the contract.  

T F

The insured has to disclose things that reduce the risk, are common knowledge or that the insurer ought to know 








T F

The insured must advise of a matter that a reasonable person in the circumstances would expect to be relevant.









T F

	ICA
	The Insurance Contracts Act contains various definitions.  Which of the following statements are correct?

Circle T for True or F for False by each statement below
.

a)
"Business Day" means a day that is a weekday.




T F
b)
"Insured" includes the Insurance Broker arranging the insurance.  


T F

c)
"Avoid" means avoid from the inception of the contract.



T F

	ICA
	The Insurance Contracts Act contains various provisions for the protection for the Insured in certain circumstances.

Circle T for True or F for False by each statement below
.

The existence of prior defects in insured property can always be used by an insurer to reduce their liability.









T F

Any provision in a contract that has the effect of limiting or voiding cover if other insurance is in place is void.









T F

If the vendor has insurance on a property that is sold to a purchaser, the purchaser is deemed to be an insured.








T F

	ICA
	The Insurance Contracts Act includes several provisions that stop insurers from refusing to pay claims.

Circle T for True or F for False by each statement below
.

An insurer can refuse to pay when the insured's act breached policy conditions and caused the loss.










T F

An insurer cannot refuse to pay when the insured's omission breached policy conditions and caused the loss.









T F

An insurer can refuse to pay when the insured's act breached policy conditions but did not cause/contribute to the loss.








T F

	ICA
	The Insurance Contracts Act places a responsibility on the insurer to advise the Insured of the Insured's Duty of Disclosure.  Which of the following statements correctly describe that responsibility?

Circle T for True or F for False by each statement below
.

The insurer must provide such advice in a specific manner as set out in the Insurance Contracts Act.










T F

The insurer must advise the insured in writing before a contract of insurance is entered into.  











T F

Where an Insurance Broker represents the insured, the insurer still has the responsibility to advise the insured.









T F

	ICA
	The Insurance Contracts Act places responsibilities on insurers where they decide to cancel or not renew an insurance contract.

Circle T for True or F for False by each statement below
.

Insurers only have to provide a reason for cancellation etc. when requested by the insured in writing.











T F

Insurers must always provide a reason whenever they are canceling/not renewing a policy.











T F

The broker must get a letter from the insured requesting the reasons for cancellation etc. and pass this to the insurer.








T F

	ICA
	The Insurance Contracts Act provides for situations where information provided by the insured is inaccurate or incorrect.  Which of the following statements regarding these situations are correct?

Circle T for True or F for False by each statement below
.

The failure to answer a question or to give a clearly irrelevant or incomplete answer is not a misrepresentation.









T F

Answers to questions will be assessed for accuracy on the basis of what a reasonable person thought the question was.







T F

The insured does not have to advise the insurer if they do not know the answer to a question and just make one up.








T F

	ICA
	The Insurance Contracts Act provides various remedies to an insurer where the insured fails to comply with their Duty of Disclosure or makes a misrepresentation to the insurer before the contract was entered into.

Which of the following statements are correct?

Circle T for True or F for False by each statement below
.

Where the insured has made a fraudulent misrepresentation the insurer may avoid the contract.










T F

Where the insured has fraudulently not complied with their Duty of Disclosure the insurer may avoid the contract.








T F

Where the non-disclosure is not fraudulent the insurer is free to decide if and how much liability they will accept.








T F

	ICA
	The Insurance Contracts Act refers to Interim Contracts.  Which of the following statements about an Interim Contract are correct?

Circle T for True or F for False by each statement below
.

a)
Interim contracts are intended to be temporary insurance cover.  


T F

b)
Interim contracts must be issued for 30 days.




T F
c)
Interim contracts are intended to be replaced or superseded by another contract of insurance.









T F

	ICA
	The Insurance Contracts Act requires an insurer to advise the insured of various things before the contract of insurance was entered into in order to be able to rely on them in the event of a loss.  Which of the following issues require such advice?

Circle T for True or F for False by each statement below
.

Any policy conditions that limit the amount payable due to the application of co-insurance or average.  










T F

Duty of Disclosure 









T F

Any policy conditions that limit the insurer liability due to an agreement that limits the insured's recovery rights.








T F

	ICA
	The Insurance Contracts Act requires insurers to bring specific things to the attention of the insured when providing cover.  Which of the following statements correctly identify some of those requirements?

Circle T for True or F for False by each statement below
.

The insurer must tell the insured in writing of any unusual terms in a contract to be able to rely on such provisions.








T F

When a proposal is received during the term of an Interim Contract, cover continues until cancellation or Policy Issue.








T F

The insurer can rely on a provision in an Interim Contract that cover is subject to receipt of an acceptable proposal.








T F

	ICA
	The Insurance Contracts Act specifically addresses the issues of Insurable Interest and the naming of people under the Insurance Contract.  Which of the following statements are correct?

Circle T for True or F for False by each statement below
.

a)
A person may be able to benefit under an Insurance Contract even though they are not named on the Contract.  







T F

b)
A contract is not void because the insured did not have an insurable interest when the policy was taken out.  







T F

c)
An insured can still claim economic loss even though they do not own the property at the time of the loss.  








T F

	ICA
	The Insurance Contracts Act specifically exempts various types of Insurance from the provisions of the Act.  Which of the following statements regarding those exemptions are correct?

Circle T for True or F for False by each statement below
.

a)
All Workers Compensation covers are exempt except where they are underwritten by Licensed Insurers.  








T F

b)
All Policies of Reinsurance are exempt.





T F
c)
All Policies to which the Marine Insurance Act of 1909 applies are exempt.  
T F

	ICA
	F. The Insurance Contracts Act specifies the exact form of
:

G. The Duty of Disclosure notice

H. The Policy Schedule for Prescribed Contracts

I. The Flood exclusion on Building and Contents Policies.

J. The Duty of Care notice

	ICA
	The Insurance Contracts Act specifies the standard (minimum) coverage requirements for various insurance policies.  Which of the following statements regarding these Standard Covers are true?

Circle T for True or F for False by each statement below
.

a)
The minimum covers for Contents and Building includes Flood.


T F

b)
If the insured is not given a wording before the contract, t he minimum cover applies plus any other policy benefits.






T F

c)
Standard covers include Home Contents, Home Building, Motor less than 2
tonne, Personal Accident, Business Pack and Travel.




T F

	ICA
	The Insurance Contracts Act spells out the way in which insurers must advise the insured of co-insurance (average) and how it is to be calculated in certain circumstances.

Circle T for True or F for False by each statement below
.

The insurer must advise the insured of the effect of Average prior to the start of the contract to be able to apply it.









T F

The insurer must advise the insured whether any co-insurance is to be calculated on an Indemnity or Replacement basis.







T F

In residential property covers the maximum Co-insurance percentage able to be applied is 85 %.











T F

	ICA
	The Insurance Contracts Act transfers the responsibility of providing various notices from the insurer to the broker.

Circle T for True or F for False by each statement below
.

The broker is responsible for giving the insured notice of their Duty of Disclosure prior to renewing a policy.









T F

The broker is responsible for giving all required notices to the insured prior to the issue of new business.










T F

The broker is never responsible for giving the insured information on average/co-insurance in the contract.










T F

	ICA

	Under Section 35 of the Insurance (Agents & Brokers) Act Insurance companies can pay insurance brokers for services provided, there are however a number of restrictions that apply.  Which of the following statements are correct?

Circle T for True or F for False by each statement below
.

a)
An insurer can pay remuneration based on the profitability of the broker’s portfolio.










T F

b)
An insurer can pay remuneration based on the claims work performed by an insurance broker.








T F

c)
An insurer can pay remuneration based on the size of the broker’s portfolio.  
T F

	IOS
	Which of the following is not one of the steps in an effective complaint process
.

a) Identifying the complaint

b) Responding to the complaint

c) Finding out who to blame for the complaint.

d) Resolving or referring the complaint.

	IOS
	The IOS can hear complaints with a value up to
:

a)
$10,000

b)
$100,000

c)
$290,000

d)
Unlimited

	IOS
	The IOS can make binding determinations on insurers up to a value of
:

a) $3,000

b) $25,000

c) $120,000

d) $290,000

	IOS
	The IOS can handle complaints in respect of 
:

a)
Contracts Prescribed under Section 34 of the Insurance Contracts Act.

b)
Some small business policies and Strata Title Policies.

c)
Liability, Professional Indemnity and Construction All Risks Policies

d)
a and b

	IOS
	The IOS operates on various rules and processes including
:

a) Claimants must contact the IOS within 7 days of an insurer IDR decision if they want the matter to be reviewed.

b) The claimant has 7 days to accept or reject the IOS decision.

c) If the complainant accepts the IOS decision the insurer has 7 days to pay the amount involved in the decision.

d) IOS decisions are binding on the insurer however the complainant may take other legal remedies if they do not accept the decision.

	NSPA
	A broker has various formal requirements placed on them by Acts and Codes.  Which of the following are true
?

a)
Brokers do not need to put their advice regarding risk protection in writing; clients should rely on the verbal assurances provided.




T F

K. b)
Insurance brokers or advisers must explain to clients the difference between a “claims made” and an “occurrence” liability wording.




T F

L. c)
One of the key objectives of the NIBA Code of Conduct is to provide clients with a standard of ethical behaviour expected of their brokers.



T F

M. d)
The Insurance Brokers Code of Practice is considered a “living document”.  This means the Code is flexible and can be adapted to deal with changes as they arise.










T F

N. e)
Under the Insurance Brokers Code of Practice the broker must promptly provide to the client copies of policy wordings, insurance documentation, certificates and endorsements.








T F

O. f)
The broker is not required to disclose to a client any association or relationship with an insurer.









T F

	NSPA
	Clients have certain expectations of brokers and their services.  Which of the following are True

a)
If a client cannot arrive at the appropriate building sum insured then the broker or adviser should suggest an amount as an expert in insurance matters.

T F

b)
A broker or adviser can make predictions to a client about the future supply of services, provided they do not put anything in writing which may hold them to account.









T F

c)
Forwarding policy documents to a client with a blank “With Compliments” slip attached is appropriate business practice for a broker.



T F

d)
Brokers have a fiduciary and moral duty to act in the best interests of the client.
T F

	NSPA
	The Insurance Contracts Act places specific requirements on Insurers/Brokers and Clients.  Which of the following are true
?

a)
The insured is not required to have a legal or equitable interest in the subject matter at the time of the loss.  It is sufficient that the insured suffered a pecuniary or economic loss.








T F

b)
If a client discloses all relevant information about a risk to their broker or adviser then they are deemed to have provided this information to the insurer.


T F

c)
If an insurer fails to send out a renewal notice they waive their rights to deny a claim based on non-renewal of the policy.






T F

a) A question not answered or which is left incomplete on a proposal form, is deemed to be misrepresentation.








T F
f)
Under S35 an insurer can pay a claim that is less than the minimum amount required by Prescribed Contracts, provided prior to entering the contract the insured was clearly informed of and agreed to this lesser amount.



T F

	NSPA
	The Australian Competition and Consumer Act is one piece of legislation designed to control the way businesses behave.  Which of the following is true
:

a)
The Federal Court retains principal jurisdiction to deal with restrictive Australian Competition and Consumer matters.









T F

b)
Services provided by a broker or adviser must be fit for their intended purpose.  This generally means brokers must provide services to clients that meet their client’s known objectives.








T F

c) The Act does not apply to the conduct of authorised representatives of insurance brokers as they are covered under the NIBA Code of Conduct.


T F
d) The ACCC still enforces consumer protection issues relating to competition for the whole financial services industry.






T F

	NSPA
	Under the Insurance (Agents and Brokers) Act brokers have various requirements that they must meet and obligations to fulfil.  Which of the following statements are correct
?

a)
The Act is primarily based upon Common Law Principles



T F

b)
An Insurance Broking Account must be maintained and this is the working account where wages and other expenses are drawn.




T F

c)
If a broker has not received the money from the insured within the 90 days required then they must notify the insurer within 7 days after the day on which the relevant period expired.








T F

d)
An insurance broker that becomes insolvent for whatever reason must firstly transfer funds from their trust account to clients owed money and the balance to the relevant insurers.









T F

	NSPA
	Under the Insurance Contracts Act
:

a) An insurer can refuse to offer or cancel a contract of insurance without explanation.

b) A proposal form is a document completed by the broker and used by an insurer to obtain information about a proposed contract of insurance.

c) If the insured is making a claim they are required to disclose to the insurer other insurance arrangements, covering the same perils and held on the same property.

d) The insurer can rely on any policy conditions to not pay a claim, even where the breach of policy conditions did not disadvantage the insurer or cause or contribute to the loss.

	NSPA
	Under the Australian Competition and Consumer Act the term “Unconscionable Conduct” refers to circumstances which include the following elements
:

a) Where one party to a transaction suffered a special disability or disadvantage, in dealing with the other party.

b) A bargaining disability was sufficiently evident to the other party.

c) The stronger party took unfair advantage or unconscionable advantage of its superior position of bargaining power to obtain a beneficial bargain.

d) All of the above.

	NSPA
	Which of the following statements about Australian Financial Complaints Authority (AFCA)  are true
?

a)
Outcomes of AFCA are binding on the Complainant





T F

b)
Matters referred to AFCA must meet certain criteria to be able to be dealt with by AFCA.

T F

c)
Matters can only be referred to the referee if the client or AFCA are not satisfied with the resolution reached.










T F

d)
AFCA can cancel the Licence of a general insurance broker


.

T F

	NSPA
	Which of the following statements are true
:

a)
A broker's “Placing Slip” means a document that is evidence of a contract of insurance and bears the notation by an insurer (upon acceptance) setting out the extent of the insurance cover the insurer agrees to provide under the contract.
T F

b)
As a staff within a broking office if you suspect someone of not acting in the spirit of NIBA’s Code Of Conduct then you should seek advice from either your senior management or NIBA.







T F

c)
A “Premium Funder” can cancel a broker’s professional indemnity policy for non-compliance with the loan agreement.






T F

d)
The only confidential information on a client’s file is their name, address, other interested parties, building sum insured and turnover.



T F

	NSPA
	Which of the following statements are true
?

a)
Under no circumstances can a broker place themselves in a Conflict of Interest
T F

b) Brokers have an obligation under the Insurance Brokers Code of Practice to provide insurers proposal information within 24 hours of receiving the information.

c) All general insurance polices are automatically reinstated.



T F
d) Under S50 of the Insurance Contracts Act the purchaser has the benefit of the vendors insurance until 90 days after the contracts are signed.


T F

	NSPA
	Which of the following statements are true
?

a)
An insurer may be liable to pay interest on an amount payable under a claim if the insurer is deemed to have unreasonably withheld money.



T F

b)
A third party cannot recover from an insured’s liability policy if the insured has died or could not be found.








T F

c)
Licensed Insurance Brokers can not use Unauthorised Foreign Insurers.

T F

d)
The Insurance Contracts Act does not apply to situations where the insurer deals direct with the client and there is no broker involved.



T F

	NSPA
	The Contracts Act 1984 impacts the way insurance is placed.  Please circle True or False next the following statements
.

Interim Contracts of Insurance (Cover Notes) are always issued for a set term of 30 days T F

Section 40 states that when arranging insurance on a “claims made” basis, brokers or insurers do need to explain to clients the differences between a "Claims Made" and "Occurrence" wording.









 T F

Section 71 has the effect of transferring responsibility from the insurer to the broker to give notices to the client such as Duty of Disclosure etc.





T F
A broker can only cancel a cover on the instructions of a client, or from an insurer when acting under a binder.









T F

	NSPA
	The Contracts Act of 1984 creates obligations on insurers, brokers and clients.  Please circle either True or False for the following statements
.

Insurers are required to send Renewal Notices to their clients no later than 60 days before the policy expires.









T F

The duty of Utmost Good faith operates from the start of the negotiation of an insurance contract and right up to its conclusion.






T F

The Act provides for all covers to be automatically reinstated following a loss, therefore it is pointless for brokers to instruct insurers to reinstate cover.




T F

The Act provides for a claim to be made and enforced by any party with an insurable interest, irrespective of whether or not the party is actually named as an insured.


T F

	NSPA
	The provision of correct information at the time of placing insurance coverage is extremely important.  Please circle True or False for the following statements
.

An insurer can refuse to pay a claim on the basis of a question not being answered on a proposal form.










T F

Brokers should prepare and sign proposal forms on behalf of their clients if their clients are not literate or have a physical disability.






T F

A client must disclose to the insurer any matter that may diminish the risk or is a matter of public knowledge.









T F

Brokers are deemed to be the agents of their clients, except when acting under a binder.
T F

	NSPA
	Under the Insurance (Agents and Brokers) Act the roles and responsibilities of agents and brokers are defined.  Please circle True or False for each of the following statements
:

When placing business for a client the broker must declare any significant interest held in that brokerage by the insurer nominated to underwrite the business.


T F

P. Under the General Insurance Code of Practice insurers are obliged to admit or deny liability within 15 days of a claim being notified.






T F

Q. Brokers are not required to tell their clients if they are operating under a binder.

T F

R. Insurance Brokers are required to tell a client the identity of an insurer before placing cover, or as soon as reasonably practicable thereafter.





T F

S. Insurance Brokers are obliged to have in force a professional indemnity policy in order to maintain their registration.








T F

T. Brokers must pay premiums received from clients over to insurers within 90 days of risk inception.










T F

U. A broker acting under a binder does not have to disclose the commission being received from the insurer, even if specifically asked by the insured.




T F

	NSPA
	There are two Codes of Practice that are designed to control the behaviour of insurers, agents and brokers.  Please circle True or False for each of the following statements
:

Codes of Conduct and Practice are self-regulatory measures put in place by the industry to protect clients rather than insurers or brokers.





T F

All outcomes of the Australian Financial Complaints Authority (AFCA)  are binding on the insurance broker, but not on the client.








T F

The General Insurance Code of Practice is binding on insurers and their agents.

T F

The Brokers Code of Practice states that insurance brokers are required to act in the client’s best interests at all times.








T F

	NSPA
	Claims are often described as the showcase of the insurance industry.  Please circle True or False for each of the following statements
.

Brokers are not allowed to retain client and invest claims monies due to clients.

T F

Claims are the insurer responsibility; therefore, brokers are not expected to become involved.










T F

If a broker is involved, then clients have no right to negotiate claims direct with insurers.
T F

An insurance broker can advise but not instruct the client to accept a settlement offer made by an insurer.










T F

	NSPA
	The handling of claims and claims experience is an important process within the insurance market.  Please circle True or False for each of the following statements
.

A phone call from a client to a broker about a claim (not under a binder) constitutes notification to the insurer.








T F

When a broker is marketing or placing a risk it is better not to confirm claims experience with the holding underwriter.








T F

The holding underwriter is obliged to release the claims experience of a client to anyone who requests in writing.









T F

Brokers are not allowed to be involved in liability claims because solicitors are involved.
T F

The broker should refer clients with simple claims directly to the insurer.

T F

Brokers should always be acting under instructions from their clients when dealing with claims.











T F

	NSPA
	Brokers must meet various legislative requirements and be professional in their dealings with clients and insurers.  Please circle True or False for each of the following statements
:

Insurance brokers are unique so they are exempt from legislation concerning false or misleading conduct.









T F

ASIC may cancel a broker’s registration if the organisation is convicted of an insurance related offence or in respect of issues arising from dishonest conduct.


T F

Under the Brokers Code of Practice insurance brokers must forward to their clients all documents sent by an insurer within 48 hours of receipt.




T F

An insurance broker must always act with utmost good faith towards both clients and insurers.










T F

Brokers are allowed to draw down funds from their broking account for cash flow purposes as long as they reimburse the account prior to the end of the year.



T F

Brokers can receive financial incentives from insurers for placing a nominated volume of business with them.









T F

Brokers do not need to send policies to clients, as they will only lose them.


T F

	NSPA
	Please circle True or False for each of the following statements
.

First loss limits are not subject to co-insurance (average)




T F

A broker who orally confirms the placement of a client’s insurance should confirm the terms and conditions in writing.








T F

Insurance is like a poker game where brokers play against insurers and clients never disclosing their hand.









T F

Risk management is based on three principles: identify, assess and treat the risk.

T F

	NSPA
	Please circle True or False for each of the following statements
:

A broker should review uninsured risks with a client at least annually.


T F

The broker prior to seeking cover should always carry out an assessment of a client’s risks.











T F

Brokers are expected to record the details of all telephone and face to face conversations with their clients in writing.








T F

Under the Insurance Contracts Act insurance policies are void if they disadvantage the insurer.










T F

	PRI
	The Privacy Act 1988 controls the way in which information is used.

Circle Y for Yes or N for No by each statement below
.

Disclosing Health information for research purposes relating to Public Health does not breach the Australian Privacy Principles.






Y N 

Direct marketing is an example of a secondary purpose.




Y N
Sometimes personal information can be used for secondary purposes without any need to obtain consent for that use.








Y N 

Information collected from an individual can be used for the primary purpose without any need to obtain consent for use.







Y N

	PRI
	The Privacy Act 1988 is based on 13 principles.

Circle T for True or F for False by each statement below
.

You can keep personal information for as long as you like regardless of whether you are ever likely to use it again.









T F

Once you have personal information you must ensure that it is accurate, kept up to date and secure.










T F

Business is global today and there are no restrictions as to where you can send personal information.










T F

A personal customer does not have any rights to get access to any information that you have collected from them.









T F

	PRI
	The Privacy Act 1988 is based on 13 principles.

Circle T for True or F for False by each statement below
.

If it is lawful and practical people have the option of interacting anonymously with you - e.g. an insurance quote.









T F

You should collect as much information about a person as you can; you never know when you might need it.









T F

Once you have collected personal information you can do with it whatever you like, after all it’s now your information.








T F

You must get consent to collect sensitive information such as peoples race, religion, health, memberships etc. 









T F

	PRI
	The Privacy Act 1988 is based on 13 principles.

Circle T for True or F for False by each statement below
.

The business must advise the person that they are collecting the information only after they have collected it.









T F

Where reasonable, personal information should be collected directly from the individual concerned.










T F

Only personal information relevant to the business should be collected.


T F

Personal information should be collected only by lawful or fair means and not in an unreasonably obtrusive manner.







T F

	PRI
	The Privacy Act 1988 is based on 13 principles.

Circle T for True or F for False by each statement below
.

When collecting information business must give a person the option to not have the information used for direct marketing.






T F

Information held prior to the commencement of the Privacy Act is not caught by the Act.
T F

A person has the right to access most information that a business holds on them at a reasonable charge.









T F

A business cannot use information gathered from a person without considering the implications of the Privacy Act.







T F

	PRI
	The Privacy Enhancement Act came into force in March 2014.

Circle T for True or F for False by each statement below
.

The Privacy Act applies to all businesses regardless of size



T F

Businesses that are required to have a Privacy Policy are not allowed to divulge the policy to anyone.










T F

The Privacy Act requires business to have a publicly available Privacy Policy Statement.
T F

There are no penalties for breaching the requirements of the Privacy Act.


T F

	PRI
	To effectively comply with the requirements of the Privacy Act 1988 businesses need to implement various processes and procedures.  Which of the following statements are correct about the way Privacy has been implemented in your organisation?  Circle T for True or F for False by each statement below
.

I have been involved in discussions regarding Privacy and its effect on the way we do our business.










T F

I have been provided with a copy of the company's Privacy Policy and read the document in its entirety.










T F

The Privacy Act does not affect me in any way.





T F

I believe the company takes the issue of Privacy seriously and I have not seen any obvious Privacy Breaches.









T F

	PRI
	Under the Privacy Act 1988 it is likely that an individual will have a legal right to access any file notes that you may make about them.  Which of the following comments are therefore inappropriate as file notes.

Circle Y for Yes or N for No by each statement below
.

V. I don't know why but I think this bloke is a fraudster.  He couldn't lie straight in bed.
Y N 

I think this client is lying; these types of people are always trying to rip us off.

Y N 

The client has given me 3 different versions of the incident and we must view further information with skepticism.








Y N 

I believe that there are a number of fraud indicators and I feel we should appoint an investigator.










Y N

	PRI
	Which of the following actions comply with the Privacy Principles incorporated into the Privacy Act 1988?  Circle Y for Yes or N for No by each statement below
.

W. Privacy Principles are only applied to Home and Motor clients.



Y N
Ringing a claimant around 9:30 p.m. to ask questions about a claim (without prior consent).











Y N

Requiring a person’s first and last name prior to providing them with a car insurance quotation.










Y N

Telephoning a client at work about their application form (and asking if it is ok to talk at that time).











Y N

	
	Which of the following statements are correct in relation to the Privacy Act 1988 . Circle Y for Yes or N for No by each statement below
.

X. The Financial Ombudsmen Service can apply fines and sanctions for breach of the Privacy Act.











Y N
We can charge the client whatever we like for providing information requested under the Privacy Act.










Y N

Once information is sent outside of Australia, the Privacy Act no longer applies to the information.










Y N

We must correct information once we are aware it is incorrect.



Y N

	PRI
	Which of the following statements about the objectives of the Privacy Act are correct?

Circle T for True or F for False by each statement below
.

It is designed to make life difficult for us when dealing with personal information.

T F

It is designed to protect the individual from the incorrect or inappropriate use of their personal information.










T F

All businesses are to be controlled in the same way.




T F

There are increased requirements for handling of Sensitive Information as compared to other Personal Information.









T F
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